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GENERAL DESCRIPTION

THIS DIASNOSTIC CAN CHAIN 6 DUL1'S. THIS MEANS THAT
16 DEVICES CAN BE SEQUENTIALLY EXERCISEC. THE DIAGNOSTIC
MRKES ONE PRSS BEFORE PROCEEDING TO THE NEXT CEVICE

,‘ff Eoommzs EXERCISING RLL DEVICES IN THIS FASHION UNTIL

fu

REQUIREMENTS

POP-11 FRMILY STRNORRD COMPUTER WITH OR WITHOUT HARDWARE SKITCH
REGISTER (LOC. 177570)

DUI1 SYNCRCNOUS-/ISOCRONOUS OPTION
ONE CONSOLE TELETYPE OR EQUIVALENT
2.2 STORRGE

3. LORDING PROCEDURE

THE STANDARD PROCEDURE FOR LORDING RBSOLUTE BINRRY TAPES
1S 1O BE USED.

STRRTING RDDRESS
FOR ABSOLUTE LORDER
017500

037500
057500

077500

117500
24K 137500
28K 157500

4, STARTING PROCEDURE

4.1 CONTROL SWITCH SETTINGS

NOTE: SNTH:R% SWITCH REGISTER IS DEFINED #S LOC. 176, WHILE
THE SOFTWARE DISPLAY REGIGTER IS DEFINED RS LOC. 174.

4.1.1 AFTER PROGRAM LORD (INITIAL PROGRAM START)
RALL CONSOLE SWITCHES DOWN

4.1.2 T0 MODIFY DEVICE VECTOR AND CONTROL REGISTER RDORESSES
RAFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SK00=1
4.1.3 70 START PROGRAM AT SELECTED TEST AFTER R PROGRAM RESTART

WrR®A
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4.2

4.3
4.3.1

4.3.2

4.3.3

03-RJG-T6 00:20

(CNLY IN SING.E DEVICE TESTS:
SKOi=1]
TC LOCK ON SELECTED TEST AFTER A PROGRAM RESTART
N TN EONACE DEVIEE TEGTS)

SW02=1

NOTEL: IN GENERAL SWOl WILL BE USED WHEN SW02z1 IS LSED
MOTEZ: WITHOUT SWOl=l  “.GCK CN TEST™ WILL DEFAULT TO TEST I
STARTING RDORESS « e

THE STARTING ADDRESS FOR ALL TESTS IS 000200

THE RETARTING ADDRESS FOR ALL TESTS IS 000200

THE STARTING RDDRESS 10 ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS TO LOCK ON TEST IS 000203

PROGRAM AND/OR OPERATOR ACTION

INITIRL PROGRAN START |

4.3.1.1 LORD PROGRAM INTO MEMORY WITH ABSOLUTE LOADER
4.3.1.2 LOAD ADDRESS 000200

4.3.1.3 CLEAR CONSOLE SWITCHES

4.3.1.4 PRESS START

NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=)X00(XX NEW=  (REFER TO SECTION 5. FOR OPERATOR'S OPTION)
)

4,3.1.7 THE PROGRAM WILL TYPE "R™ TO INDICRTE THAT IT IS RBOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE “R” AND WILL COMMENCE TESTING

PROGRANM RESTART WITH SK0O=1

4.3.3.1 LORD ADDRESS 000200

4.3.3.2 SET SW00=1

4.3.3.3 PRESS START

NOTE‘:‘ }&T& ?QFPED QFTE“ITCH §£GISTER IS SE#ECTE? TI'EN THE FOLLOWING
SHR=XXXXXX NEW= (REFER TO SECTION 5. FOR OPERRTOR S OPTION)

4.3.3.4 THE PROGRAM WILL TYPE ™ 1ST DEVICE: RECEIVER CONTROL REGISTER

SEC 00C3
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ADDRESS™ AND WRIT FOR AN LINPUT FROM THE TELETYPE KEYBOARD
4.3.3.5 TYPE IN THE RDDRESS OF THE FIRST RECEIVER CONTROL

REGISTER ADDRESS OF THE DULl TO BE TESTED
FCLLOWED BY R <CRRRIRGE RETURN)

IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE =
AND WILL THEN REPERT THE MESSRGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE “VECTOR ADDRESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBORRD

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUIl TO BE TESTED FOLLOWED BY A <CARRIRGE RETURN)
IF AN INCORRECT RODRESS 1S TYPED ,THE PROGRAM WILL TYPE "?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

PROGRAM WILL TYPE “ARE YOU RUNNING MULTIPLE DEVICES **
OR N)-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

T 0

( N

4.3.3.9 TYPE IN THE APPROPRIATE ANSKER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN)

4.3.3.8

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WILL TYPE "?"
AND WILL THEN REPERAT THE MESSAGE OF 4.3.3.8

IF A "NO™ ANSKER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF R "YES™ RANSWER IS GIVEN:THE NEXT QUESTION IS ASKED

4.3.3.10 THE PROGRAM WILL TYPE “LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.11 TYPE IN THE QDORESS OF THE LAST RECEIVER CONTROL REGISTER

RODRESS OF THE DUl1l TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

JF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WiLL TYPE "°*"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

4.3.3.11.1 IF AN “OUT OF RANGE™ ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES RWAY (UPWARDS)..... THE
PROGRAM WILL TYPE “OUT OF RANGE:RETYPE LAST DEVICE RXCSR RDDRESS-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.11.¢2 TYPE IN T& RDDRESS OF T& #QST RECEIVER CONTROL
RDORESS

REGISTER THE DULl TO ESTED FOLLOWED
BY A <CARRIAGE RETURN)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRRM WILL TYPE *?*

SEQ 0004
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AND WILL REPEAT THE MESSAGE OF 4.3.3.11.!

THE PROGRRH NILL DEFAULT TO TUO DEVICES RCTIVE (UPHQRDS FROM
1ST DEVICE ADDRESS).THE SAME APPLIES TO IDENTICAL ADDRESSES
TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION 8 RCTREG: SEE SECTION 7.2

4.3.3.12 THE PROGRAM WILL TYPE "DU PRIORITY LEVEL-" AND

WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.13 TYPE IN THE APPROPRIATE DEVICE PRIORITY LEVEL OF THE

DUL1 OR DU11'S TO BE TESTED FOLLOWED BY R_<CARRIAGE RETURN)
égegE)THRTIQLL“EgLTIPLE DEVICES MUST BE AT THE SAME PRIORITY

IF AN INCORRECT LEVEL IS TYPED ,THE PROGRAM WILL TYPE *
AND REPEAT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE "8 OF SYNC CHARS

q. 3. 3. 15
BY A
BET

4.3.3.16

4.3.3.17

4.3.3.18

4.3.3.19

SELECTED (1 OR 2)=" AND WRIT FOR AN INPUT FROM THE TELETYPE
KEYBORRD

TYPE IN THE APPROPRIATE ANSWER *1* OR “2* FOLLOWED
HECQRRIRGE RETURN> . (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORRECT ANSKER IS TYPED ,THE PROGRRH WILL TYPE =7
AND WILL REPEAT THE MESSAGE OF 4.3.3.1

THE PROGRAM WILL TYPE = IS SEC XMIT JUMPER #6 IN ? (Y OR N)-*
RAND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A (CRARRIAGE RETURN>.(NOTE THAT ALL MULTIPLE OEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRRH WILL TYPE =?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.1

THE PROGRAM WILL TYPE *1S SEC REC JUMPER # S IN 2
(Y OR N)-" RND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

TYPE IN THE APPROPRIRTE ANSWER YES OR NO FOLLOWED
BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SRME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE “?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE IS OPT CLR ENARBLE JUMPER

SEQ 00C5
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g4 IN? (Y OR N)=" AND WRIT FOR AN INPUT FROM THE TELETYFE KEYBOARD

4.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE =7
AND WILL REPEART THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRRH WILL TYPE “RRE YOU RUNNING IN MAINT.
MODE EXTERNAL ? AND ...... D0 YOU HAVE THE EXTERNAL MODEM
BYPRSS JJHP!rf'R c? &croa ON ? (Y OR N)=* AND WAIT FOR AN
INPUT FROM ELETYPE KEYBORRD

4.3.3.23 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED BY
A (CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE =7
AND WILL REPERT THE MESSAGE OF 4.3.3.22

4.3.3.24 THE PROGRAM WILL TYPE "R™ T0 INDICATE THAT IT
HAS STARRTED AND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH SWO1=]

NOTE: THIS WILL ONLY WORK WHEN R SINGLE DEVICE 1S SELECTED

.., 1T WILL NOT WORK IF MULTIPLE DEVICES RRE SELECTED

IF nu.npu: DEVICES WERE PREVIOUSLY SELECTED,LORD 000200,

AND SELECT SWO0=1 AND ANSWER “NO™ TO THE MULYIPLE DEVICE QUESTION

SEE 4.3.3

4.3.4.1 LORD 000200

4.3.4.2 SET SKO1=1

4.3.4.3 PRESS START

NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING

WILL BE TYPED RFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=)XOOXXX NEM= (REFER TO SECTION 5. FOR OPERATOR’S OPTION)

4.3.4.4 THE PROGRAM WILL TYPE "TEST PC-" AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CRRRIRGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE “R* TO INDICATE THAT IT HARS STARTED
TESTING AT THE SELECTED TEST
NOTE: CARE MUST BE TRKEN WHEN THIS FERTURE IS USED
GINCE THERE 1S NO PROTECTION RGAINST SELECTING AN RDDRESS
tHAT IS IN THE MIDOLE OF A TEST

4.3.5 PROCGRAM RESTART WITH SWO2 =1

NCTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
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SEE NOTE IN 4.3.4 FOR MORE DETARILS
4.3.5.1 LORD RDDRESS 000200

4.3.5.2 SET SKO2 =}
NOTE: IT MRY BE ADVANTRGEOUS TO SET SWOl=1 (OPTIONAL)

4.3.5.3 PRESS START

NCTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF
SHR=XXXXXX NEW= (REFER TO SECTION 5. FOR OPERﬂTOR S OPTION)

4.3.5.4 THE PROGRAM WILL TYPE “LOCK ON SELECTED TEST ? (Y OR N)-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.5.5 TYPE IN THE APPROPRIATE ANSKER YES OR NO FOLLOWED BY R
(CARRTAGE RETURN>

IF R NO ANSKER IS GIVEN: THIS LOCK CN TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE “R™ TO INDICATE THAT IT HRS STARTED
TESTING AT TEST 1

4.3.5.6 IF A YES ANSHER WAS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PROGRAM WILL TYPE “R™ TO INDICATE THAT xr HAS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF ANY KEY 15 STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL R KEY IS STRUCK ON
THE TELETYPE AND SO FORTH rmu mz PROGRAM. IF SWO! =1 1IT
WILL PERFORM RS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

5. OPERATING PROCEDURE

IF THE DIQGNOS IC IS RUN ON
REGISTER THEN R SOFTWARE S
THE USER THE SAME SWITC
IF THE HARDWARE SKITCH
AND IT CONTRINS ALL ONE
REGISTER (LOC. 176} IS

R CPU WITHOUT A SWITCH

TCH REGISTER IS USED WHICH ALLOWS
IONS RS THE HARDWARE SWITCH REGISTER.
TER DOES NOT EXIST OR IF ONE DOE.
77777) THEN THE SOFTWARE SWITCH

E
H 0P
REGI
S (1
USED

CONTROL :

THIS PROGRAM ALSO SUPPORTS THE DYNAMIC LORDING OF THE SOF TWARE SWITCH
REGISTER (LOC. 176} FROM THE TTY. THIS CRAN BE ACCOMPLISHED BY
DOING THE FOLLOWING:

1) TYPE CONTROL G <1G>: THIS WILL ALLOW THE TTY TO ENTER DARTR INTO
LOC. 176 AT SELECTED POINTS WITHIN THE PROGRAM,

2) THE MACHINE WILL THEN TYPE: sun-xxxxxxnsu- (XXXXXX IS THE OCTAL CONTENTS
OF THE SOFTWARE SWITCH REGISTER.)

3) AFTER THE ''NEW=’' HAS BEEN TYPED THEN THE OPERATOR CAN DO ONE
OF THE FOLLOWING AT THE TTY:
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f) TYPE @ NUMBEP TO BE _ORDED INTO LOC. 176 FOLLOWED BY A <CR>.
(ONLY NUMBERS CSTWEEN 0-7 WILL BE ACCEPTED AND ONLY & NUMBERS
WILL BE RLLOWEC)

IF A <CR> IS THE FIRST KEY DEPRESSED THE SOF TWARE SWITCH
REGISTER CONTENTS WILL NOT BT CHANGED.

B) IF A CONTROL U <tU> IS DEPRESSED THEN THE PROGRAM WILL SEND YOU
BRCK TO STEP 2.

S.1 OPERRTIONAL SWITCH SETTINGS

SWiS =1 HALT ON ERROR

SWiY =1 LOOP ON CURRENT TEST

Sul3 =l INHIBIT ERROR_TYPEOUT

Skll =1 INHIBIT ITERRTIONS

SW10 =1 ESCRPE TO NEXT TEST ON ERROR

SWOB =1 LOOP ON ERROR

Shie =1 LOCK ON TEST

S0l =1 RESTRART PROGRAM AT SELECTED TEST

SW00 = RESELECT VECTOR AND CONTROL REGISTER RDRESSES
SPARAMETERS AFTER RA_PROGRAM RESTART

TO INHIBIT "END OF PASS™ TYPEOUT - TURN TELETYPE OFF
ERRORS

b.1 ERROR HALTS
THERE ARE FOUR DISTINCT ERROR TYPEOUTS

NOTE: IF THE SOFTWARE SWITCH REGISTER IS TO BE CHANGED ARFTER R HALT
THE THE OPERATOR IS REQUIRED TO TYPE A <G> BEFORE DEPRESSING CONTINUE.
THE FOLLOWING WILL BE TYPED:

SWR=XXXXXX NEW= (REFER TO SECTION S. FOR OPERATOR OPTION)

6.1.1 PC+2 = ERROR PC
WHERE PC +2 IS THE ADDRESS OF THE CALL TO THE ERROR HRANOLER +2

REFER TO THE RBOVE "HLT™ IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK RDDRESS & RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

6.1.2 PC +2 = REGISTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 22222
WHERE 16XXXX IS THE ADDRESS OF THE FRILING DEVICE REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 2Z222Z IS THE ACTUAL CONTENTS OF THRT REGISTER
£.1.3 PC +2 = RECEIVER ERROR PC
REGISTER EXPECTED ACTURL
16XXXX YYYYYY 222222

HHERE 16XXXX IS THE ADDRESS OF THE FRILING RECEIVER (RXDBUF) REGISTER

SEQ Ooce
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WHERE YYYYYY IS THE EXPECTED DRTA CONTENTS OF THAT REGISTER
WHERE 222222 1S THE RCTUAL DATA CONTENTS OF THRT REGISTER
.1.4 PC +2 = TRANSMITTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 222222
WHERE 16XXXX IS THE RDDRESS OF THE FRILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 22222Z IS THE RCTUAL CONTENTS OF THAT REGISTER

6.1.5 ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

b.2 ERROR RECOVERY

b.2.1 SWI1S =0
IF THE PROGRAM IS RUN WITH SWI5 =0 ,NO OPERATOR ARCTION 1S
REQUIRED TO CONTINUE TESTING

SWIS =

IF THE PROGRRH IS RUN WITH SWIS =1 ,T0 CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS’ THE PROCESSOR
CONSOLE “CONTINUE SWITCH™

NOTE: THE PC 4+ 2 OF THE “HLT™ WILL BE DISPLAYED IN THE DATR LIGHTS

£.2.3 ILLEGAL INTERRUPTS
IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM mnmuzmxon THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE ADDRESS AT WHICH THE PROGRAM
mus IS a GREATER THAN THE nooaess TO WHICH THE INTERRUPT
OCCURED. THE PROCRAM MUST BE RESTRRTED AT 000200 TO
RECOVER FROM THIS ERROR.

£.2.4 RADDITIONAL TROUBLESHOOTING RIDS ERRCNT: & PRSCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL 8 OF ERRORS AND PRSSES RESPECTIVELY.

LORDING 000200 AND RESTARTING WILL CLERR THESE LOCATIONS.

e.3 END OF PRSS ROUTINE
THIS TYPEQUT 1S MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PARSS TAPE Y
16XXXX = DEVICE

WHERE Y IS THE TAPE LOADED
WHERE 16XXXX IS THE DEVICE'S BASE REGISTER RDORESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF

SEQ 0009
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RESTRICTIONS

MULTIPLE DEVICES
UP_T0 16(10) DEVICES MAY RPc TESTED. HOMEVER, THEY
MUST HRVE CONTIGUOUS ADDRESSES RNC VECTORS

NOTE: IF ALL DEVICES UNDER TEST HARVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE “ZERO:  RDD ulo BASEIV -NEXT BLOCK
(VECTORS)” TO “ZERG: ADD BRSEIV™;

THEREBY THE VECTOR RDDRESSES NILL NOT BE’

UPDATED AFTER ERCH PRSS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT IS SET
FOR ERCH DEVICE RUNNING UNDER TEST IE. BIT O FOR
DEVICE 0 ,BIT 15 FOR DEVICE 15

T0 DISQUALIFY DEVICES:

IF DEVICE 0 IS TO BE DISGURLIFIED ,SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE.

IF HOWEVEP, DEVICES 1 THRU 1S OR ANY COMBINATION THEREOF
ARE_TO BE DISGUALIFIED....LORD THE LOCATION OF QC REG
OBSERVE THE ACTIVE BITS (ACTIVE =I, NONACTIVE =

AND DEPOSIT O WHERE THOSE DEVICES ARE T0 BE DISQUQLIFIED

7.2.2.1 TO RESTARY...LORD 000200 IN SWR AND DEPRESS START..

THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 ;...0.s OR ..... LORD 000200 WITH SWOO =1 AND DEPRESS START..
RNSH‘R THE QUESTION :1ST DEVICE : ETC. ........
.. THE PROGRAM WILL CONTINUE WITH DEVICE O

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE ~ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... LORD & START AT 000200

CRBLE DELRAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H31S CONNECTOR ON)

T0 PROVIDE SUFFICIENT DELRY FOR CLOCK SIGNAL OVER THE CABLE

LOCRTION “HOLD:* MUST 8E MODIFIED TO RCCOMODAIE FOR FASTER MACHINES.
PRESENTLY “HOLD:" =20 IS SUFFICIENT TIME ON AN 11/20 MACHINE.

IF RUNNING ON AN 11/40 OR AN 11/45 “HOLD:"™ MUST BE PATCHED TO 40

BARSICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIR DRIVERS

TO USE THE “XOR™ TESTER ,THE BRANCH AROUND THE *XOR*

CODE MUST BE PATCHED TO A “NOP”. (SEE LISTINGS FOR DETAILS)

DEFAULT PARAMETERS:

1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS~ RXCSR: 160040

VECTOR AHDDRESS- DURIV: 770

SE3 0010
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10.
11.

ARE YOU RUNNING MULTIPLE DEVICES - NO MULTD: O
LAST CEVICE: RECEIVER CONTROL REGISTER ARDDRESS- LASTADD: O
CJ PPIORITY LEVEL- LEVEL S DUPRT: LEVEL S

8 OF SYNC CHRRS SELECTED - @ SYNCNO: 377

IS SEC XMIT JUMPER % & IN ?- YES SEXMIT: 377

IS SEC REC JUMPER # 5 IN ?7- YES SEREC: 2377

IS OPT CLR ENARBLE JUMPER % 4 IN ?- YES OPTCLR: 377

DO YOU HAVE THE EXTERNAL MODEM BYPASS JUMPER
CONNECTOR ON (H315)- YES JMRBY: 377

PROGRAM DESCRIPTION

FLOW CHARTS: RECEIVER FLOW, TRANSMITTER FLOW, TRANSMITTER & RECEIVER FLOW
LISTINGS

SEQ 0011
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.ENABLE ABS

;DUL1 DZDUB-C_TAPE B
;COPYRIGHT 1973, DIGITAL

MOl

EQUIPMENT CORP., MRYNARD, MASS. 01754

; STARTING PROCEDURE

;LOAD PROGRAM
s PRESS START

: PROGRAM WILL TYPE "DUll DZDUB-C TAPE B *

PROGRQM WILL TYPE "R™ TO INDICATE THAT TESTING MRS STARTED
sAT_THE END OF A PASS, PROGRAM WILL TYPE “END OF PA3S TAPE B"

:AND THEN RESUME

; SWITCH REGISTER OPTIONS

100000 SW15=100000
040000 SW14=40000
020700 SWi3=20000
010000 Sl12=10000
004000 SW11=4000
002000 SWiC=2000
001000 SW09=1000
000400 SWO8=400
002100 SW06=100
000040 SWOS=40
000020 SW04=20
000910 SW03=10
G0g004 Sula=4
000002 SWO1=
a00C01 SWO0=1

TESTING

HALT ON ERROR.
OOP ON CURRENT TEST
NHIBIT ERROR TYPEOUT

L
I
INHIBIT ITERATIONS

ESCAPE TO NEXT TEST ON ERROR
LOOP WITH CURRENT DRTA

LOOP ON ERROR

e ve wé

Hinun
= Pt ot P Pt Pt s
- w »w -

e P B W

;LOCK ON TEST SELECT

:RESTART PROGRAM 4T SELECTED TEST
tRESELECT VECTOR AND CONTROL REGISTER
:ADDRESS AFTER PROGRAM RESTART

SEG 0012
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NO1

;REGISTER DEFINITIONS

g

309003 R3=%3

i =
888086 cP=vf :
0000G? PC=4?

EE gPQ RE& R
NZRQ TER

: GENERAL REGISTER

GEhERRL REGISTER

GENERQL REGISTER

s GENERAL REGISTER

; PROCESSOR STACK POINTER

s PROGRAM COUNTER

; LOCATION EQUIVALENCIES

177570 DSWR=177570
177570 DLIGHTS=177570
177776 PS=177776
001100 STACK=1100

s HARDWARE SWITCH REGISTER LOC.
: HARDWARE DISPLAY REGISTER LOC.
s PROCESSOR STATUS WORD

iSTART OF PROCESSOR STARCK

; INSTRUCTION DEFINITIONS

005746 PUSHI%P-;?HB
605" 2E POP15P=5
017046 PUSHRO=10046
0:2500 POPRO=12600
24646 PUSH25P=24646
022626 POP2SP=22626
JEQUIV EMT,HLT ;
100000 BIT15=100000
040000 BIT18=40000
020000 81713=20000
010000 81T12=10000
004000 81T11=4000
002000 BIT10=2000
001000 B173=1000
000400 BIT8=400
000200 BIT7=200
£00100 BIT6=100
000040 BITS=40
000020 BIT4=20
000010 BIT3=10
000004 , BIT2=
000002 BITI=
000001 ‘ BITO=1
Pnocssssn LEVELS
000340 {EVEL7=340
000300 LEVEL6-300
000240 LEVELS=240
000200 LEVEL4=200
000140 LEVEL3=]40
000100 LEVEL2=100
000040 LEVEL 1=04J
000000 LEVELD=000

; DECREMENT PROCESSOR STACK 1 NORB =
: INCREMENT PROCESSOR STACK 1 WORD =
:SAVE RO ON STACK =MOV RO,-(SP)
:RESTORE RO_FROM STACK =M)V (SP)+,RO
:DECREMENT STACK TWICE =CMP -(SP),-(SP)
; INCREMENT STACK TWICE =CMP (SP)+, (SF)+
:BASIC DEFINITION OF ERROR CALL

SEQ 0013
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l=MRY=?

10000C
040000
020000
01000C
224000
002030
201000
050s00
022130

i

033010

i

200C01
102000

BO2

J1=0CT-Te C£39:1° PR3E |7
:30

REuIS’ER EFINITIONS
XCSR BIT DEFINITIONS
DSC=BITi§ onrn SET CHAMNGE
RING=BITIM RING
cts=B1T13 CLR 10 SEND
CARDET=BIT1c :CARRIER DETECT
RECACT=RITII :REC ACTIVE
SRC=BIT10 :SEC REC DATA
DSR=BITY :DATR SET RDY
STPSYN=B178 :STRIP SYNC
RYDONE=BIT? ‘REC DONE
RINTEN=BITH :REC INTR ENGBLE
DSINTE=B17S :DSC INTR ENABLE
SYNSCH=BI T4 :SYNC SERRCH
STD=BIT3 :SEC XMIT DATR
RTS=BIT2 REQ TO SEND
DTR=BIT] :DATA TERM RDY
v0ID=81T0
-RXDBUF BIT DEFINITIONS
RXERR=B1t15S -REC ERROR
OVRRUN=BITIN ;ovsnnun
FRMERR=BIT13 : FRAME ERROR
PARER=BIT]2 *PARITY ERROR
:PRRCSR BIT oenﬁmons
PRREN=B1{3 ITY ENASLE
EVPAR=BITB vsn PARITY SENSE
- PARCSR WRD osrmmon
SYNINT=30000 <SYNC EXTERNAL MODE
SYNEXT=20000 :SYNC INTERNAL MODE
1SYMOD= :150C MODE
FIVE=0 WORD LENGTH S BITS
SIX= ‘MORD LENGTH & BITS
SEVEN=9000 *WORD LENGTH 7 BITS
EIGHT=6000 + WORD LENGTH 8 BITS
NOPRR= :NO PRRITY
0DDPAR=1000 : 000 PARITY
E =1400 ‘EVEN PRRITY
-TXCSR BIT DEFINYTIONS
DNR=BITIS :DATA NOT AVAILRBLE
MTDATA=BITIY ;nnx NT DATR
CLK=BIT]3
BITW=BIT1O 911 WINDOW
MRESET=BI T8 :MASTEP RESET
TYOANE=BIT7 s XMTT DONE
TXINTE=B; TS :XMIT INTR ENABLE
DNRINTE=BITS :DNA INTR ENAB
ND=B]I T4 : SEND
HOXEN=B1T3 * HOX/FDX
BREAK=81T0 : BREAK
- TXCSR WRD osr:nirxous
USER=0 USER MODE
MINT=4000 :MAINT INT MODE
MEXT=10000 :MAINT EXT MODE
5YSTST=14000 :SYSTEM TEST MODE

s TRAPCATCHER FOR' ILLEGAL INTERRUPTS

e OCld
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BHREER
SEEE

REERESERE
SRERINEC

BESRBESRALE
REREREF ECiR

coe

31=007-T6 09:17 PRGE 18

SEG 001S
: STRNGRRD INTERRUPT VECTORS

=24
PFRIL <POMER FRIL HANDLER
340 SERVICE AT LEVEL ?7
LY E ROR HRANDLER
340 SERVICE AT LEVEL
. TRPSRY GENERQL HANDLER DISPGTCH SERVICE
340 SERVICE AT LEVEL 7

; SOFTWARE SWITCH REGISTER

DISPREG: .WCRD O :SOFTWARE DISPLAY REG.

SWREG: .WORD O :SOF TMARE SWITCH RESISTER

JMP .START :G0 TC START OF PROGRAM
.=1100

s INDIRECT POINTERS
SWR: 177570 +SWITCH REGISTER POINTER
LIGHTS: 1775/0 DISPLRY REGISTER POINTER
TKCSR: 177S&0 TELETYPE KEYBORRD CONTROL REGISTER
TKDBR: 1?7562 TELETYPE KEYBOARD DATA BUFFER
TPCSR: 177584 TELEPRINTER CONTROL REGISTER
TPDBR: 177566 TELEPRINTER DRTA BUFFER

; PROGRAM CONTROL PARAMETERS

RTRN: O :SCOPE ARDDRESS FOR LOOP ON TEST

NEXT: O : ADDRESS OF NEXT TEST T0 BE EXECUTED

LOCK: O ;ADDRESS FOR LOCK ON CURRENT DA

ICOUNT: sNUMBER OF ITERATIONS THAT CURRENT TEST WILL BE EXECUTED
LPCNT: 0 INUMBER OF ITEREATIONS COMPLETED

TSTNO: O :NUMBER OF TEST IN PROGRESS

PASCNT: 0 s NJMBER OF PASSES COMPLETED

ERRCNT: 0 : TOTARL NUMBER OF ERRORS

LSTERR: O ;PC OF LAST ERROR CALL

;PROGRARM VARIABLES

HOLD: 20 ; TEMPORARY STORAGE=DELRY TIME FOR CRB.ES
SHIFT: O : TENPORARY STORAGE= # OF SHIFTS PER CHA
COUNT: O ' TEMPORARY STORAGE= 8 OF TIMES A CHAR HILL BE SENT
TEMPL: O : TEMPORARY STORAGE

TEMP2: 0 : TEMPORARY STORAGE

TEMP3: O : TEMPORARY STORAGE

TEMPY: O : TEMPORARY STORRGE

TEMPS: O : TEMPORARY STORAGE

SAVRO: 0 :RO STORAGE

SAVRl: O :R1 STORAGE

SAVR2: O :R2 STORAGE

-— .- ——— -——
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CSDUB-C MACY1L 2Ti10081 31-03T-TB 09:17 PRGE .9
CICUBC.PI1  21-MAv=76 03:00 SEC 0016
752 OC1I64 000000 SAVR3: O :R3 STORAZE
753 001166 000000 SAVR: O :R4 STORAGE
-S4 00!170 000003 SAVRS: O 1RS STORAGE
755 0fil7e 00000 SAVSE: O :STACK POINTER STORAGE
75 001174 020030 SAvPC: G }PROSRAM COUNTER STORAGE
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PAGE

SYNCNO:

BASEADD:

KEEPRDD:
LASTADD:

BASE]V:
KEEPIV:
ACTREG:

ROTRDD:
INIFLG:
STFLG:

ERRFLG:
LOKFLG:

. TRPTAB

EO2

SEQ 0017

SROERRHBCONVER:QTIONQL PRRAMETERS

;8 OF SYNC CHARS REQ'D FOR SYNC'ZATION
sSEC XMIT JUMOER "IN"

:5EC REC JUMPER " IN"

:OPTIONAL JUMPER CLR “IN“

iNO_MULTIPLE DEVICE FLAG

;EXTERNAL MODEM BYPRSS JUMPER “IN"

; PROGRAM MULTIPLE DEVICE PARAMETERS

20

: :BYTE 377
. BYTE 377
. .BYTE 377

BYTE O
.BYTE 377

0

0

0

0

0

0

0

-PROG CONTROLLED 1ST DEVICE ACDR
snvso 1ST DEVICE ADDR
:LAST CEVICE RXCSR RODR
:PROG CONTROLLED 1V
:SAVED INTR VECTOR
:RCTIVE REGISTER ,,,MODIFY THIS
Locnvéon 10 DISQUALIFY on OUQLIFY
:DEVICES (1= RUN,, 0= DON'T RUN)
'ROTATING POINTER'EOR ACTREG..POINTS
:TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DE

; PROGRAM CONTROL FLRGS

.BY}E 0
Iger 8
.BYTE

PRO?Rg? INITIALIZATION FLAG
OR OCCUREb FLRG
LOCK ON CURRENT TEST FLARG

;DEFINITIONS FOR TRAP SUBROUTINE CALLS
:POINTERS TO SUBROUTINES CAN BE FOUND
+IN THE TABLE IMMEDIATLY FOLLOWING THE DEFINITIONS

lli!llii!llllﬂllllil!!lil!ll!ilﬂlliiilli!llli!llliilll!!i!i!ilili*!!l!iiil*
il**!*il*l*il!*!i*l!!ili!ii!**lli§*§§§§§i§*§liili!*!l*l*i*iil‘l*!*‘lii*lii‘l

.SCOPE
0Pl

SCOPE=TRAP+0
SCOP1=TRAP+]
TYPE=TRAP+2
INSTR=TRARP+3
INSTER=TRAP+4
PRRAM=TRAP+5
SAVOS=TRAP+b
RESOS=TRAP+7
CONVRT=TRAP+10

T
CNVRT=TRAP+!|

SETFLG=TRAP+12

; CALL
s CALL
;CALL
;CALL
;CALL
;CALL
;CALL
:CALL
s CALL
; CALL
;CALL

TO SCOPE LOOP AND ITERRTION HANDLER
TO LOOP ON CURRENT DARTA HANDLER

TO TELETYPE OUTPUT ROUTINE

TO ASCIT STRING INPUT ROUTINE

T0 INPUT ERROR HANDLER

TO NUMERICAL DATR INPUT ROUTINE

TO REGISTER SAVE ROUTINE

TO REGISTER RESTORE ROUTINE

TO DATR OUTPUT ROUTINE

TO DATA OUTPUT ROUTINE WITHOUT CR/LF
TO FLAG SET ROUTINE
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FEAEEBRRNRIERERRRRERARIRR

SEE88ES SSRESRRERER
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0C12S2
001254
001256

SENER
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Pt
L0

JRPREE R

8888
SRR

88888

888888
FEbEs

21-MAY-?6 00:09

014436
109413
01518e
104414
015226

000340
001100
015006
177620
177713
177614
177704
7 1778

1776

001260
177652

015326
177640

177570
000006

001426
1777277

000176
000174

000042
000176

000001
000446

01 000302
?S 000004

1-03T-76

176510
000024

177570
177550

177510
177504
000004
177456

177442
177436

177410

177376

09:17

FO2

PRGE 2!

.SETFLG

CKSWR=TRAP+13
.CKSKR

CNTLU=TRAP+1Y4
.CNTLU

SEQ 0013

;CALL TO ALLOW SWREG TO BE LORDED FROM TTY
;CALL TO ALLOW LORDING OF SWREG FROM TTY

SERRRRRNLERERAXEXRRRERRRRRERRERERRRRRRERRFRRLRERFEXFERFEXREREFEEREEREEHERE
(RRRREFEERRERRRRRRRRE R R RRRRRERERFRRRRRERERRRRRRRRRERRERERARRRRREREARREREE

; PROGRAM_INITIALIZATION
:LOCK QUT INTERRUPTS

:SET UP PROCESSOR STACK
:SET UP POWER FRAIL VECTOR

:CLERR_PROGRAM CONTROL FLAGS ANC COUNTS

:TYPE TITLE MESSAGE

.START: MOV 8340, PS
MOV 85T7AlK 5P
MOV ', Prnxt s
CLR LPCNT
CLRB TFLG
CLR ASCNT
CLRB  ERRFLG
CLR ERRCNT
CLR LSTERR
MOV 81, TSTNO
MOV 8.5TART,RTRN
TSTB  INIFLG
BNE ONCE
TYPE MTITLE
comB  INIFLG
ONCE: MOV $0SWR, SKR
MOV 8DLIGHTS, LIGHTS
MOV a6, - (SP)
MOV TN -(sp)
MOV s64d, Jay
CHP #-1,9SWR
BEQ 658
8R 668
pus:  CMP (SP)+. (SP)+
668: MOV $SWRES, SWR
MOV 8DISPREG, LIGHTS
BES: MOV (SP)+, 384
MOV (SP)+. 386
15T 42
BNE 678
CMP #SWREG, SWR
BNE 67$
CNTLU
678:  BIT $SW00, ISKR
BNE 18
JMP .BEGIN
18: MOV 300, R0
MOV 8302 R1
MOV 84, R2
2s: MOV R1, (RD)

; LOCK OUT INTERRUP1S

iSET UP STAC

:SET UP POHER FAIL VECTOR

;CLEAR 8 OF ITERATION COMPLETED LOCATION
:CLEAR START FLAG

: CLERR PASS COUNT

s CLEAR ERROR FLRG

:CLEAR ERROR_COUNT

:CLEAR LAST ERROR POINTER

:SET UP FOR TEST 1

;SET_UP FCR POHER FRIL BEFORE

; TESTING STARTS

:HAS INITIALIZATION BEEN PERFORMED

;TYPr, TITLE MESSAGE

:IF NOT SET FLAG RND_DO

:RELORD HARDWARE SWITCH REGISTER INTO POINTER
:RELORD HARDWARE DISPLAY REGISTER INTO POINTER
s SAVE VECTORS

;SET UP FOR TIMEOUT
: REFERENCE HARDWARE SWITCH REGISTER

; RDJUST STACK

:POINT 7O SOFTWARE SWITCH REG
:POINT TO SOFT DISPLAY REG
;RESTORE VECTORS

; UNDER MONITOR
; 1S SWREG USED

;RESELECT VECTOR 8 CONTROL REG?

;RESTORE VECTOR RRER TO TRAPCATCHER
:START AT LOCATION 300
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C3CUBC.P11  2l-wAy-7s 03:03 SEQ 0019

8.9 0C1S26 005011 CLR (R1)

8-0 00! gggggo ADD R2,R0

871 001 1 ADD R2 Rl

8~ 001 34 02270 001000 CMP 21000,R1 -END AT LOCATION 776

873 001.M0 002771 BLT 28

874 GCOIS¥2 108403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
875 00ISW 015402 MREGAD s MESSAGE

876 001546 104405 PARAM couvsnr STRING

877 001550 160000 160000 LOW LIMIT

878 001552 167776 167776 HIGH LGxr

879 00ISSM 017236 JUBASE srons AT THIS LCCATION

880 001556 001 .BYTE 1 MASK

B8] 0G1557 001 ‘BYTE 1 HOH MANY TIMES + 2

B82 001560 016767 015452 177420 MOV DUBRSE, KEEPRDD  ; SAVE

883 001566 004767 015312 TSR PC, DUALDR

884 001572 016767 177410 177404 MOV m@mom&monﬁmurmnmmmu

89S 001600 104403 INSTR :OUTPUT MESSAGE 8 GET INPUT STRING
886 001602 015360 MVECTO * MESSAGE

887 001604 [0Y40S PARAM : CONVERT STRING

£38 001606 000300 300 :LOW LIMIT

889 001610 000776 776 ‘HIGH LIMIT

890 001612 017560 DURIV srons AT THIS LOCATION

891 001614 001 .BYTE 1 MASK

832 001615 004 BYTE 4 HOH MANY TIMES + 2

893 001616 016767 015736 177370 MOV DURIV,KEEPIV  ;SAVE

84 001624 016767 015730 177380 e MOV DURIV.BASEIV  :SET UP FOR ROTATION

895 D01632 104403 INSTR :OUTPUT MESSAGE 3 GET INPUT STRING
896 00163 0IS462 MMULT :MESSAGE

897 001636 109412 SETFLG ssr anc BASED UPON INPUT STRING
898 001640 001202 MULTD HIS FLAG

% 001642 105767 177334 1ST8 MULTD RRE Lgegssqghnm.s DEVICES

901 DOl16¥6 100406 BN] BBB ves ASK NEXT QUESTION

902 001650 005067 177342 CLR ACTREG

Q03 001654 00S067 177340 CLR ROTAROD

904 001660 000167 000140 INP OUTMUL ;JUMP ARROUND NEXT QUESTION

305 001664 BBS:

396 DUI6bY 104403 INSTR ;OUTPUT MESSAGE 3 GET INPUT STRING
907 001666 0.5542 MLASTD : MESSAGE

308 001670 10440S PARANM : CONVERT STRING

909 881572 159990 :LOW LIMIT

910 001674 167776 167776 *HIGH LIMIT

9]1 001676 001210 LASTADD sronz AT THIS LOCATION

915 ggx;go 001 aer 1 : MASK

4] 1701 001 BYTE 1 ‘HOW MANY TIMES + 2

914 - THE FOLLOWING ROUTINE SETS UP ACTREG roﬁ THE FIRST TIME

915 001702 012767 00000! 177310 ls: MOV 81, ROTADD ET OINTER

916 001710 00S06? 177302 CLR ACtREG :CLR ACTIVE REGISTER

917 001714 056767 177300 177274 2§: BIS ROTROD,RETREG  ;MAKE THIS DEVICE ACTIVE

918 001722 DOC2Y! cLe

919 001724 006167 177270 ROL ROTRDD SET UP POINTER

920 0C1730 103421 BCS k] 3 YOU GUT OF RANGE ?

921 001732 062767 000010 177244 ADD 810 ansshoo :SET UP BRSE ADDRESS

922 001740 026767 177244 177236 CHP LASYADD, BASEADD ;1S THIS THE LRST DEVICE ?

823 001746 101362 BH] 28 N0 DO It AGAIN

924 001750 056767 177244 177240 BIS ROTADD,ALTREG  ; THIS ASSUMES THAT THERE ARE AT
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OZDUBC.PI1  21-MAY-76 00:09 SEQ 0020
325 :LERST TWO DEVICES WHEN YOU ANSWER YES T0
934 :MULTIOLE DEVICE QUESTION
427 001756 012767 000001 177234 MS: MOV 81 . ROTAOD SET UP FOR LATER USE IN END OF PASS ROUTINE
928 00176M 016767 177216 177212 MOV KEEPADD, BASEADD :DITTO
929 001772 000! BR OUTMUL " :CONTINUE QUESTIONS
930 001774 016767 177206 177202 38: MOV KEEPADD, AREEADD ; -RESTORE
931 002002 104403 INSTR : OUTPUT MESSAGE 3 GET INPUT STRING
932 00200N 015725 MRANGE : MESSAGE
933 002006 104405 PARANM : CONVERT STRING
934 002010 160080 160000 :LOW LIMIT
935 002012 167776 167776 HIGH LIMIT
936 002014 001210 LASTACD swonz AT THIS LOCATICN
937 002016 001 .BYTE | : MASK
938 002017 001 .BYTE | _ HOW MANY TIMES + 2
939 002020 700167 177656 IMP 18 ;00 IT AGARIN
940  DO2uM OUTMUL :
941 002024 104403 INSTR :OUTPUT MESSRGE 8 GET INPUT STRING
X2 002026 01s211 MLEVEL : MESSAGE
943 002030 104405 PARAN :CONVERT STRING
44 (002032 00004 Y LOW LIMIT
5 002034 000007 7 *HIGH LIMIT
46 002036 017100 DUPRT *STORE AT THIS LOCATION
?  002040 000 .BYTE 0 : M
Q48 002041 001 BYTE ‘-, IHOW MANY TIMES + 2
949 (002042 00N767 014762 JSR PC, DULE
959 COMPARE THE rmsr CHARACTER IN THE_TELETYPE INPUT
95| :BUFFER TO THE CHARACTERS “1" AND =2%.
952 :IF THE CHARACTER IS “I” CLERR THE FLAG
93 :1F THE CHRRACTER IS "2 SET THE FLAG
954 002046 ARA:
955 0020M6 104403 INSTR ;OUTPUT MESSAGE 8 GET INPUT STRING
955 002050 016236 MSYNC : MESSAGE
957 00205 122767 00006l 014610 3S: CMPB  #'l, INBUF 1S IT %1 »
958 (02060 001003 BNE 18
959 (002062 105067 177110 CLRB  SYNCNO . 000
960 002066 000412 BR ug
961 002070 122767 000082 Cl4s72 1S: CMPB  #’2, INBUF IS IT == 2
S62 002076 00100M BNE 28
963 002100 112767 177777 177070 MOVB  §-1,SYNCNO :377
364 002106 000402 BR ys§
965 002110 10440M 28: INSTER s RETRY
866 002112 000757 BR 3s
967 002114 000240 ys: NOP
968 002116 104403 INSTR ;OUTPUT MESSAGE 8 GET INPUT STRING
969 002120 016304 MWIREG : MESSAGE
970 002122 104412 SETFLG *SET FLAG BRSED UPON INPUT STRING
971 002124 001177 SEXMIT :THIS FLAG
72 002126 104403 INSTR :0UTPUT MESSAGE & GET INPUT STRING
9~3 (02130 016352 MWIRES *MESSAGE
74 002132 104412 SETFLG SSET anc BASED UPON INPUT STRING
75 00214 001200 SEREC sTHIS F
¢76 002136 104403 INSTR OUTPUT nessncs 8 GET INPUT STRING
977 002140 01417 MWIREY : MESSAGE
978 002142 104412 SETFLG ssr FLAG BRSED UPON INPUT STRING
979 002144 001201 OPTCLR THIS FLAG

980 002146 104403 INSTR OUTPUT MESSAGE & GET INPUT STRING
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001100
000042

177000

0ile40
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SeC 002!

s MESSAGE
;?ET quc BASED UFON INFUT STRIMG
;s THIS FLRG

;LOCK QUT INTERRUPTS
;SET _UP STACK
; IS PROGRAM UNDER MONITOR CCNTROL

;O0N'T ALLOW LOCK ON TEST IF RUNNING

. 1F NO,TEST FOR LOCK ON TEST
;B§§¥8kg NORMAL SCCPE LOOP

:JUMP AROUND IF YES
:CHECK FOR LOCK ON TEST

;ggggggsnsssncs 3 GET INPUT STRING
:SET FLAG BASED UPON INPUT STRING

: THIS FLAG
;IS LOCK ON TEST OPTION SELECTED

<SET UP T0 LOCK

-LOCK NOT SELECTED, SET UP FOR NORMAL SCOPE LOOP
'IF SW0l=1, GET STARTING PC
:OUTPUT MESSAGE & GET INPUT STRING
s MESSAGE

: CONVERT STRING

(LOW LIMIT

;HIGH LIMIT

:GTOPE AT THIS LOCATION

; MASK

{HOW MANY TIMES ¢ 2

:START AT TEST |

; TYPE R

ISTART TESTING

;3 THIS TEST VERIFYS WORD LENGTH SELECT OF THE

SECTION,IT USES THE ERROR FLAGS
INE THAY I7 WAS SELECTED CORRECTLY

; SRVE THIS
:GO TO THIS TEST WHEN THRU

$MRESET, aTXCSR  ;MASTER RESET

PAGE 24
MEXTI
CETFLG
IMrBY
s TEST START AND RESTART
.BEGIN: MOV 8340, PS
MOV 8STALK, SP
157 Jm42
BNE 38
TSTB  MULTD
-MJLTIPLE DEVICES
BEG s
MOV BRW, T1ST
MOV BRX ' TT5T+2
BR 38
c§: BIT #8BIT2, ISKR
BEC 1S
INSTR
MLOCK
SETFLG
LOKFLG
TSTB  LOKFLG
BEQ 1S
MOV $NOP, TTST
MOV sNOP| TTST+2
BR s
18: MOV BRW, TTST
MOV BRX' TTST+2
zs: BIT sSW01, JSUR
BEQ 38
INSTR
MTSTPC
PARAM
1571
TLAST
RTRN
JBYTE |
.BYTE 1
BR 4§
38: MOV 87ST1,RTRN
4s: TYPE MR
NP JRTRN
: \RECEIVER
2170 DETERM
; 3 COVRRUN, RXERR)
: s MODE : ISYMOD
s sLENGTH: SIX
' .
TSTL:  fdv 81, TSTNO
MOV 87572, NEXT
BIS
MOV

$ISYMOD,aPARCSR ;SET THE MODE




FRTAATER

SITETERILRS

BRBBIIVAAZN

%

Pt Puatt Pt Pt Pt Pt Pt Pist Pt Pt Pt Poith Pt Pout Pt Pt Pt Pt Pt Pa P

00000
2838

002400

002406

002414
002422

00zele
002620

CZ0UB-C MACYLl 27(1006)
DZ0UBC.PLL

052777
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052777

0Ne77?7
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004762
012700
017701
020001
001401
104002

104400

012767
012767

1-CCT-76 09:17
21-MRY-76 00:03

000400
064001
002000

000020

020000
020000

015014

000010
000252
014466
000010
000252
014446
140025
014736

000002
0030S4

01S142

015134

176442
176440

176400
176376

176360
176356

176306
176270

Joe

PRGE 25

SEQ 0022
BiS #MRESET,dTXCSR  ;MASTER RESET

;SET HQINB DATA, CLK BREQK &MQINTENRNCE MODE

' sMTOATAR!CLKYMINTTBREAK , aTXCSR

;SET MODE ,# OF BITS,PRRITY SENSE,3LORD SYNC REG

MOV $I1SYMOD! SIX!NOPARI O, IPARCSR
BIS 8SYNSCH_RXCSR :SEY SYNC SEARCH
- POKE CLK TO g;t Rscsxvsh INEOCSYNSEOIZRTION

B1c
BIS lCLK aTXCSR :POKE CLK UP
POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC eCLK, 8TXCSR s POKE CLK ooun
BIS #CLK’ aTXCSR * POKE C
MOV RXDBUF , R3 :SET UP ron sanon MESSAGE
MOV 825,R0’ ;EXPECTED
MOV 46 SHIFt -8 OF SHIFTS
MOV casé TEMP! :DATA CHAR
JSR RPOKE :SHIFT IN THIS CHAR
ga}a ankcsn s RXDONE #
HLT RXDONE SHOULD BE SET
MOV JRXDBUF , R1 - ACTUAL
EEE 25§R1 : COMPARE ' EXFECTED VS. RCTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATA - CHECK MAINT DATA
:0R RECEIVER LOGIC
MOV $8. SHIFT -8 OF SHIFTS
MOV nasé TEMP] onrn CHAR
JSR OKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A ssbono CHARACTER' KITHOUT READING RXDBUF
MOV SHIFT .4 OF SHIFTS
MOV uasé TEMPL :DATA CHAR
JSR :SHIFT IN THIS CHAR

OKE
MOV cxﬁoooo-as RO sxpecrso DATR PLUS
:RXERR 8 OVRRUN

MOV JRXDBUF ,R1 s ACTUAL
CHP RO,RI ' ;COMPARE’EXP VS. RCT

BEQ 664

HLT 2 :SPECIFICALLY LOOK AT RXERR 8

:OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE
. THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: \RECEIVER SECTION,IT USES THE ERROR FLAGS

,,TO DETERMINE THAY IT WAS SELECTED CORRECTLY
: (OVRRUN, RXERR)

: {MODE : 15¥MOD

s :LENGTH: SIX

: § CHAR: 52
kv 82, TSTNO SAVE THIS
MOV eT8T3, NEXT :GO TO THIS TEST WHEN THRU
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DZOUBC.PLL el-MAY-76 C0:00 SEG 0023

ioea ooaags usaz;; aosgoo o{:zxg axs nnRESET agégsn ng;r;gsnmggr
/ v
i§§§ BRsedd Biss2s 833988 8id7gs oY hY 8? TXCSR  .MASTCR RESE
1097 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
1033 002650 012777 064001 O1u4e72 MOV #MTOATR!CLK!MINT!BREAK,dTXCSR
Ummawmwmwmxmmmmm
883555 313777 886808 014660 MoV #ISYAOD! grx- PAR! 0, SPARCSR
684 052777 20 014642 BIS 8SYNSCH, JRXCS Et SYNC SEARCH
-POKE CLK TO GET RECEIVEh INTO SYNCROIZATION..
002672 Q42777 020000 014650 BIC #CLK, dTXCSR s POKE CLK DOMWN
002700 052777 020000 Ol4e4e BIS ¢CLK TXCSR :POKE CLK UP
POKE CLK TO GET Loctc INTO SYNCRONIZATION
002706 042777 020000 014634 BIC #CLK, JTXCSR s POKE CLK ooun
002714 052777 020000 014626 BIS sCLK . 9TXCSR :POKE CLK
002722 016703 OI4612 MOV RXDBUF,R3 :SET UP ron ERROR MES3AGE
002726 012700 000052 MOV ssa RO’ :EXPECTED
002732 012767 000010 176200 MOV 'SHIF} 8 OF SHIFTS
002740 012767 000324 176176 MOV 0324 TEMPI :DATA CHAR
002746 004767 014266 ISR RPOKE :SHIFT IN THIS CHAR
002752 105777 014556 1578 ankcsn s RXDONE *
002756 100401 BM] BYS
002760 104000 HLT :RXDONE SHOULD BE SET
002762 BYS:
002762 017701 014552 MOV anxoaur Ry ACTUAL
002766 020001 CNP RO,R onmc EXPECTED VS. ACTUAL
002770 001401 BEQ sst
002772 104002 HLT 2 -RECEIVED DATA DID * .. MATCH
:EXPECTED DATR - CHECK MAINT DATA
:OR RECEIVER LOGIC
002774 85§

012767 000010 176136 MOV 88.,SKIFT 8 OF SKIFTS
003002 012767 000324 176134 MOV 8324 TEMPI :DATA CHAR
0030:0 004767 014224 JSR PC, RPOKE SHIFT IN THIS CHAR
-NOW SHIFT IN A setouo CHARACTER WITHOUT RERDING RXDBUF
003014 012767 000010 176116 MOV SHIFT 8 OF SHIFTS
003022 012767 000324 176114 MOV caaﬁ TEHPl :DATA CHAR
002030 0O0N767 0l420M ISR PC, RPOK SHIFT IN THIS CHAR
003034 012700 140052 MOV oxﬁoooo'sa RO :EXPECTED DATA PLUS
:RXERR § OVRRUN
003040 017701 014474 MOV JRXDBUF ,R1 ACTUAL
003044 020001 CMP RO,R1 ';COMPARE EXP VS. ACT
003046 001401 BEQ 13
003050 104002 HLT 2 -SPECIFICALLY LOOK AT RXERR &

668 sOVRRUN BITS...THEY BOTH SHOULD BE SET

TEST VERIFYS WORD LENGTH SELECT OF THE
R SECTION,IT USES THE £ERROR FLAGS

0 DETERMINE THAY IT WAS SELECTED CORRECTLY
; (QVRRUN, RXERR)

xsﬁnoo
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DZCUBC.P!I  21-MAY-75 00:00 SEC 0024
1149 023054 012767 000003 176044 TST3: MoV 83, TSTNG :SAVE THIS
1150 0C3062 012767 003316 176026 MOV $TETO. NEXT GO TO THIS TEST WrEN THRU
1151 003070 052777 000400 014452 BIS SMRESET, dTXCSR_ ;MASTER RESET
1182 003976 Olzz7? 000000 014440 MOV #ISYMOD ' QPARCSR $SET THE MODE
iiga 003104 052777 OCOY00 014436 BIS SMRESET @TXCSR :MASTER RESET
1155 +SET MAINT DATA,CLK,BREAK,3MAINTENANCE MODE
}igg 003112 0.2777 064001 014430 MOV sMTDATA!CLK'MINTTBREAK, 3TXCSR
1158 :SET MODE ,# OF BITS,PARITY SENSE,8LOAD SYNC REG
1159 003129 012777 002000 014416 MoY léSYHOD!STX!NOPRR!O JPARCSR
1160 0031z6 052777 000020 Oi4N00 81S 8SYNSCH: 9PXCSR  :SEY SYNC SEARCH
1161 -POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
1162 002134 042777 020000 014406 B1C 8CLK, aTXCSR ;POKE ELK DOWN
1163 003142 052777 020000 014400 BIS #CLK 9TXCSR 'POKE CLK UP
1164 +POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1165 003150 042777 020000 014372 BIC #CLK, JTXCSR s POKE CLK DOWN
1166 003156 0S2777 020000 014364 BIS $CLK aTXCSR :POKE CLK UP
1167 003164 016703 014350 MOV RXDBUF ,R3 !SET UP FOR ERROR MESSAGE
1168 003170 012700 000077 MOV 877 R0’ :EXPECTED
1169 003174 012767 000010 175736 MOV #8. 'SHIFt -8 OF SHIFTS
1170 003202 012767 000376 17573 MOV 8376 TEMFI :DATA CHAR
11721 003210 004767 014024 JSR PC, RPOKE :GHIFT IN THiS CHAR
1472 002214 105777 O143I4 TSTB  JRXCSR ;RXDONE 3
1173 003220 100401 BH1 BYS
1174 003222 104000 HLT -RXDONE SHOULD BE SET
1175 003224 BYS:
1176 003224 017701 014310 MOV JRXDBUF ,R1 : ACTUAL
1177 003230 020001 CHP RO,R1 ' ;COMPARE’EXPECTED VS. RCTUAL
1178 003232 001401 BEQ 654
1179 003234 104002 HLT 2 -RECEIVED DATA DID NOT MATCH
1180 *EXPECTED DATR - CHECK MAINT DATA
1181 :OR RECEIVER LOGIC
1182 003236 BS$:
1183 003236 012767 0000I0 175674 MOV $8. , SHIFT :8 OF SHIFTS
1164 003344 012767 000376 178672 MOV 2378 TEMPL sDATA CHAR
1185 003252 004767 013762 _ ISR PC, RPOKE 'SHIFT IN THIS CHAR
1186 :NOW SHIFT IN A SELOhD CHARACTER’WITHOUT READING RXDBUF
1187 003256 012767 000010 175654 MOV 88. SHIFT & OF SHIFTS
1188 003264 012767 000376 175652 MOV 8378 TEMPI :DATA CHAR
1189 003272 004767 013742 JSR PC, RPOKE SHIFT IN THIS CHAR
1130 003276 012700 140077 MOV £140000177,R0  ;EXPECTED DRTR PLUS
1181 'RXERR & OVRRUN
1192 003302 017701 014232 MOV IRXDBUF , R} s ACTUAL
1i93 003306 020001 CMP RO,R1 ' ;COMPARE'EXP VS. ACT
1194 003310 001401 8EQ 66¢
1195 003312 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR &
1196 :OVRRUN BITS...THEY BOTH SHOULD BE SET
1197 003314 663:
1198 003314 104400 SCOPE
1199 » +THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1200 s 'RECEIVER SECTION.IT USES THE ERROR FLRGS
1201 + 70 DETERMINE THAY IT WAS SELECTED CORRECTLY
1202 : s (OVRRUN, RXERR)
1203 + *MODE : ISYMOD
1204 s s LENGTH:SIX
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003316

003354

003362
003370

003376
003404

003412
033420
002426
003432
003436
003444
003452
003456
003462
003464
003466
003466
003472
003474
003476

003500
003500
003506
003514

003520
0J3526
003534
003540

003544
003550
003552
003554

003556
003556

012767
012767
052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012705
0127s8?
012767
004767
105777
100401
10400C

017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002

104400

31-0CT-76 09:17 PAGE 28

000004
003560
000400
000000
000490

064001
002000

0000e0

020000
020000

020000
020000

014046

G00010
000200
013520

000010
000200
013500
140000

013770

175602
175564
014210
014176
014174

014166
014154

014136

014144
01413¢

014130
oi4122

175474
175472

175432
175430

175412
175410

TSTY:

MOe2

s sCHAR: O

fdv 84, TSTNO :SAVE THIS

MOV 87875, NEXT G0 T0 THIS TEST WHEN THRU
BIS SMRESET, 9TXCSR  ;MASTER RESET

MOV $ISYMOD . 9PARCSR +SET THE MODE

81S $MRESET,JTXCSR :MASTER RESET

;SET HQIHBVDQTR,CLK BRERK, SMAINTENANCE MODE

:SET MODE
M

B4%:

B53:

o
BIS

sMTOATA! CLK'MINT!BREAK, 3TXCSR

# OF BITS,PARITY SENSE,3LORD SYNC REG
$ISYHOD! SIX!NOPAR! 0, OPARCSR
#SYNSCH, JRXCSR  :SEY SYNC SEARRCH

sPOKE CLK TO gEf RECEIVER INTO EYNCSOIZQTION....

BIC 8CLK, aTXCSR :POKE CLK DOWN
BIS 8CLK  JTXCSR : POKE CLK UP
-POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BI #CLK, dTXCSR :POKE CLK DOMWN
B #CLK JTXCSR tPOKE CLK UP
MOV RXDBUF,R3 :5ET UP FOR ERROR MESSAGE
MOV 80,R0 ' :EXPECTED
MOV 28, SHIFY :8 OF SHIFTS
MOV %200, TEMPL :DATA_CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
TSTB  ORXCSR ;RXDONE *
BMI 648
HLT s RXDONE SHOULD BE SET
MOV JRXDBUF, R1 : ACTUAL
ggg Eginx : COMPARE ' EXPECTED VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATR - CHECK MRINT DATA
:0R RECEIVER LOGIC
MOV %8.  SHIFT .8 OF SHIFTS
MOV 4200, TEMPL :DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER'WITHOUT RERDING RXDBUF
MOV 85. SHIFT : 8 OF SHIFTS
MOV 200, TEMP1 :DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
MOV #140000'0,R0  ;EXPECTED DATA PLUS
, sRXERR & OVRRUN
MOV SRXDBUF, R1 s ACTUAL
CMP RO,R1 ' ;COMPARE'EXP VS. ACT
BEQ 66$
HLT 2 :SPECIFICALLY LOOK AT RXERR &

669%:

; OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE

- THIS TEST VERIFYS WORD LENGTH SELECT OF THE
+ RECEIVER SECTION,IT USES THE ERROR FLRGS
::70 DETERMINE THAY IT WAS SELECTED CORRECTLY
; ; (OVRRUN, RXERR)

SEQ 002S
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lebl
1ebe
1263
1264
126S 003560 012767
1266 003566 012767
1267 003574 052777

1258 003t02 012777
1269 003610 052777

1272 003ble 012777

1275 003624 012777
1276 003632 052777

1278 003640 042777
1279 00364 052777

128) 003654 042777
1282 003662 052777
1283 203670 016703
1284 003674 012700
1285 003700 012767
1e86 003706 012767
1287 003714 004767
1288 003720 105777
1289 003724 1C040!
1290 003726 104000

1292 003730 017701
1293 003734 020001
1294 003736 001401
1295 003740 104002

P 1298 003742

! 1299 003742 012767
1300 003750 012767
1301 003756 004767

1303 003762 012767
1304 003770 012767
1305 003776 004767
004002 012700

1308 004006 017701
1309 0C40le 020001
004014 001401
004016 104002

004020
004020 104400

—
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00:00

020005
Q04022
000400
000000
000400

064001
004000

000020

020000
020000

020000
020000

013610

0136C"

000011
000652
013256

000011
000652
013236
140125

013526

013666
013660

175232
175230

; sMODE: ISYMOD
s LENGTH: SEVEN
s sCHAR: 125

1515:  Abv u? TSTNO :SAVE THIS
MOV $T5TH, NEXT G0 TO THIS TEST WnSN THRU
BIS SMRESET, 9TXCSR  ;MASTER RESET
MOV 81SYMOD, 9PARCSR +SET THE MODE
BIS 8MRESET,9TXCSR :MASTER RESET

-SET MAINT DATA,CLK,BREAK, 3MAINTENANCE MODE
MOV #MTOATA!CLKYMINT 'BREAK, aTXCSR

-SET MODE ,# OF BITS,PARITY SENSE,8LOAD SYNC REG
MOV #ISYMOD! SEVEN'NOPAR! O, aPARCSR
BIS #SYNSCH_ JRXCSR  ;SET SYNC SEARCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
BIC #CLK, 3TXCSR s POKE CLK DOMN
BIS #CLK' aTXCSR :POKE CLK UP
s POKE CLEITO GET LOGYC INTO SYNCRONIZATION

C #CLK, 3TXCSR s POKE CLK DOMWN
BIS #CLK, 9TXCSR tPOKE CLK UP
MOV RXDBUF, R3 :SET UP FOR ERROR MESSAGE
MOV #125 R0 .EXPECTED
MOV 9. SHIF .84 OF SHIFTS
MOV 8652, TEMPL :DATA_CHAR
ISR PC, RPOKE :SKIIFT IN THIS CHAR
TSTB  @RKCSR ;RXDONE *
BMI B4S
s HLT :RXDONE SHOULD BE SET
MOV aRXDBUF, R} - ACTUAL
ggg EE&RI : COMPARE 'EXPECTED VS. RCTUAL
HLT 2 -RECEIVED DATA DID NOT MATCH
*EXPECTED DATA - CHECK MAINT DATA
ce :0R RECEIVER LOGIC
MOV #9. ,SHIFT .4 OF SHIFTS
MOV #8652, TEMPL :DATA CHAR
JSR PC, RPOKE ___;SHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACER'WITHOUT RERDING RXDBUF
MOV %9, SHIFT .8 OF SHIFTS
MOV 8652, TEMPL :DATA CHAR
JSR PC, RPOKE sSHIFT IN THIS CHAR
MOV #1400007125,R0 ;EXPECTED DATA PLUS
:RYERR & OVRRUN
MOV JRXDBUF , Rl - ACTUARL
CMP RO,R1 ' ;COMPARE’EXP VS. ACT
BEQ 668
HLT 2 :SPECIFICALLY LOOK AT RXERR 3
o *OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE
;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
; ;RECEIVER SECTION,IT USES THE ERROR FLAGS

SES 0026
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+: 70 DETERMINE THART IT WAS SELECTZD ZORRECTLY
: + (OVRRUN, RXERR)

: s MODE ; 1S¥10D
:;LENuTHéSEVEN
2:2767 000006 175076 TSTE:  Wv 86, TSTNO :SAVE THIS
0.2767 00428M 175060 MOY 87817 NEXT :GO TO THIS TES™ .M THAL
gS2rT? 300400 213804 BIS  #MRESET,aTXCSR ;MASTER RESET
ig77c ©£00800 Qi3v7e MCV 8ISYMOD, @PARCSR :SET THE ™OCE
082777 OCONDD 013470 8IS BMRESET,STXCSR :MASTER RESET
:SET MAINT CRTA,CLK,BPERK, SMAINTENANCE MODE
012777 06400, D134e2 MOV sHTDATA!CLK ! MINTYBREAK, aTXCSR
SET MOCE ,8 OF BITS,PRRITY SENSE,3LORD SYNC REG
012777 0O4000 013452 MU~ #ISYROD!SEVEN!NCPAR! D, OPARCSR
062777 000020 013432 BIS 8SYNSCH. 9RXCSR :SET SYNC SEARRCH
“FOKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
42777 020700 013440 81¢ 8CLK. JTXCSR sPOKE CLK DOMWN
052777 0200 G134z 81S 8CLh . . TXCSR :POKE CLK UP
:POKE CuK TO GET LOGIC INTO SYNCAONIZATION
oM2777 020000 13424 BIC sCLK, JTXCSR :POKE CLK DOWN
082777 020000 O:sdlc BIS sCLK . TXCSR :POKE CLK UP
016703 013402 MOV RXDB(F ,R3 :GET UP FOR ERROR MESSAGE
012700 0000S2 MOV 852,80 EXPECTED
012767 OCA0LI 174770 MOV 83, |SHIF} -8 OF SHIFTS
012767 DOCSSM 174786 MOV 8524, TEMP] :DATA CHAR
004767 012056 JSR PC, RPOKE :GHIFT IN THIS CHAR
105777 013346 TST6  SRKCSR :RXDONE *
100401 BN] BY4S
104000 s AT -RXDONE SHOULD BE SET
017701 013342 MOV SRXDBUF , R} : ACTUARL
020001 CHP RO,RI ' ;COMPARE EXPECTED Vs. RCTUAL
001401 BEQ 6S$
104032 HLT 2 -RECEIVED DATR DID NOT MATCH
"EXPECTED DATR - CHECK MAINT DATA
- :OR RECEIVER LOGIC
012767 000011 174726 MOV 89, ,SHIFTY :8 OF SHIFTS
012767 000S24 174724 MOV 8524 TEMPL :DATA CHAR
004767 013014 ISR PC . RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER WITHOUT READING RXDBUF
012767 000011 174706 MOV 89. SHIFT .8 OF SHIFTS
012767 000S24 174704 MOV 8524, TEMP] :DATA CHAR
00N767 012774 JSR PC, RPOKE SHIFT IN THIS CHAR
012700 140052 MOV #140000752,R0  ;EXPECTED DATR PLUS
*RXERR & OVRRUN
017701 013264 MOV JRXDBUF ,R1 s ACTUAL
020001 CHP RO,R1 ' ;COMPARE'EXP VS. ACT
001401 BEG 66¢
104002 HLT 2 :SPECIFICALLY LOOK AT RXERR &
6 :OVRRUN BITS...THEY BOTH SHOULD BE SET
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174464
1749462

1749444
174442

+ s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: RECEIVER SECTION,IT USES THE ERROR FLAGS
::T0 DETERMINE THAY IT WAS SELECTED CORRECTLY
: s C(OVRRUN, RXERR)

;s +MODE: ISTMOD

;;LENGTH;;EVEN

HH :1
1577:  Hdv 87, TSTNO :SAVE THIS
MOV 87578, NEXT GO TO THIS TEST WHEN THRJ
8IS sMRESET, JTXCSR  ;MASTER RESET
MOV 8ISYMOD, QPARCSR :SET THE MODE
BIS SMRESET, JTXCSR :MASTER RESET
:SET MAINT DATH,CLK, BREAK, SMAINTENANCE MODE
MOV sMTOATA! CLK! MINT YBREAK,, §TXCSR
:SET MOJDE ,# OF BITS,PARITY SENSE,8LORD SYNC REG
Mol 8 1SYHOD! SEVEN!NOPAR' D, 9PARCSR
8IS 8SYNSCH_aRXCSR :SET SYNC SEARCH
-POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....
B1C 8CLK, JTXCSR POKE CLK DOWN
BIS sCLK  TXCSR :POKE CLK UP
:POKE CLK T0 GET LOGIC INTO SYNCRONIZATION
BIC 8CLK, 3TXCSR -POKE CLK DOWN
BIS sCLK | 9TXCSR *POKE CLK UP
MOV R R3 :SET UP FOR ERROR MESSAGE
MOV 8177 . R) -EXPECTED
MOV 83, SHIFt -8 OF SHIFTS
MOV 8778, TEMPL :DATA CHAR .
JSR PC, RPOKE :SHIFT IN THIS CHAR
TSTB  SRXCSR ;R )
BNI 648
s T -RXDONE SHOULD BE SET
MOV JRXDBUF ,R1 s ACTUAL
SEE 22;”1 - COMPARE ' EXPECTED VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MRINT DATA
ccs :OR RECEIVER LOGIC
MOV 89, SHIFT 8 OF SHIFTS
MOV 8778 TEMPL :DATA CHAR
ISR FC,RPOKE SSHIFT IN THIS CHAR
;NOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
MOV 89, , SHIFT -8 OF CL.IFTS
MOV 8778 TEMP] :DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR
MOV umwmm;%gywwm

OVRRUN
MOV  SRXDBUF,R] : ACTUAL
(WP RORL™ ";COMPARE'EXP VS. ACT
HT 2 ;SPECIFICALLY LOOK AT RXERR 8
:OVRRUN BITS...THEY BOTH SHOULD BE SET

Se% 0028
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1429 0O0uS2y

1430 OC4Sa4  10%400
1431

1432

1433

1434

1435

1436

1437

1439 00452t 012767
1440 004534 012767

1442 Q04SSO0 012777
004556 (0S2777

1446 004564 012777

144§ 00YS72 012777
052777

DO3
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02:03
668:
SCOPE
:; THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s sRECEIVER SECT.> IT USES THE ERROF FLAGS
310 DETERHINE Tnnt IT WAS SELECTED CORRECTLY

: (OVRRUN, RXERR
: 'MOGE : 1SYMOD
..LENGTH SEVEN

HAR:0

000010 174372 T5T8:  Mbv 88, TSTNO :SAVE THIS
00N?70 17435 MOV 87573 NEXT G0 TO THIS TEST WHEN THRU
000400 013000 BIS SMRESET, dTXCSR  ;MASTER RESET
000000 012766 MOV 81SYMOD, QPARCSR :SET THE MODE
000400 012764 BIS 8MRESET)@TXCSR :MASTER RESET
:SET HRINT nnrn CLK, BRERK , SMAINTENANCE MODE
DEN001 012756 " sMTOATA!CLK'MINT!BRERK , 3TXCSR
:GET MCDE .8 OF BITS,PARITY SENSE,8LORD SYNC REG
004000 012744 Mo¥ 8ISYHOD! SEVEN!NOPAR! 0 apnncsn
000020 012726 BIS 8SYNSCH_ JRXCSR  ;SET SYNC SEARCH
-POKE CLK T0 GEY RECEIVER INTO SYNCROIZRTION
020000 012734 81 OCLK STXCSR :POKE CLK DOWN
020000 012726 81s STXCSR : POKE CLK ue
- POKE CLK ro GET Locic INTO SYNCRONIZATION
020000 012720 BiC 8CLK, TXCSR POKE CLK DOWN
020000 012712 8IS 8CLK . 3TXCSR :POKE CLK UP
012676 MOV RXDB(F ,R3 :GET UP FOR ERROR MESSAGE
000000 MOV 80,R0 ' EXPECT
000011 17426M MOV 13,  SHIF} -8 OF SHIFTS
000400 17422 MOV 2400 TEMP) 'DATA CHAR
012352 JSR PC, RPOKE :SHIFT IN THIS CHAR
012642 éa}a gakcsa :RXDONE *
us HLT :RXDONE SHOULD BE SET
012636 MOV JRXDBUF , R1 CTURL
ggg EU*RI conpnns sxpscrso VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MAINT DATA
ccs ‘0R RECEIVER LOGIC
000011 {74222 MOV 89. SHIFT 8 OF SHIFTS
000400 174220 MOV wob TEMP] :DATR CHAR
012310 JSR C. RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A sséono cunnncrsn WITHOUT READING RXDBUF
00001} 174202 MOV IFT 8 OF SHIFTS
174200 MOV nqob rsnpx :DATR CHAR
012270 ISR PC, RPOKE :SHIFT IN THIS CHAR
1400C MOV 0140000'0,R0  :EXPECTED DRTAR PLUS
'RXERR & OVRRUN
012560 MOV anxosur Rl ACTUAL
CHP RO,Rl ' ;COMPARE EXP VS, ACT
BEQ 66d

SE¢ 0C29
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1485 OONTEN 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR 3
1439 :CVRRUN BITS...THEY BOTH SHOULD BE SET
14 %m 66S:

14 766 104400 SCOPE

1489 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1490 + \RECEIVER SECTION,IT USES THE ERROR FLAGS
1491 ::T0 DETERMINE THAY 1T WAS SELECTED CORRECTLY
1492 s s (OVRRUN, RXERR)

1493 : +MODE : IS¥YMOD

1494 s sLENGTH:EIGHT

i:gg s sCHAR: 125

1497 0ON770 012767 000011 174130 71sT9:  %bv 89, TSTNO -SAVE THIS

1498 004776 012767 005232 17412 MOV 875710, NEXT G0 TO THIS TEST WHEN THRU
1499 00SOON 052777 000NM00 012536 BIS sMRESET, 3TXCSR  ;MASTER RESEY

1500 005012 Gl2777 000000 012524 MOV 81SYMOD, @PARCSR :SET THE MODE

issgé 005020 052777 000400 012522 BIS SMRESET @TXCSR ;MASTER RESET

1503 :SET MAINT DATR,CLK,BREAK, SMAINTENANCE MODE

iﬁ 00S02e 012777 064001 012514 MOV sNTDATALCLKY MINTIBREAK , 9TXCSR

1506 -GET MODE ,s OF BITS,PARITY SENSE,3LORD SYNC REG

1507 012777 006000 012502 MOV 2I1SYAQD EIGHT 'NOPAR! 0, JPARCSR

1508 00SMN2 052777 000020 012464 BIS 8SYNSCH SRXCSR ;SET SYNC SEARCH

1509 -POKE CLK T0 GEY RECEIVER INTO SYNCROIZATION....
1510 00SDS0 Q42777 (020000 012472 BIC 8CLK, 3TXCSR sPOKE CLK DOWN

1511 00S0Se 052777 020000 Olo4eM BIS 2CLK arxc;n iPOKE CLK LP

1812 sPOKE CLK_TO GET LOGIC_INTC SYNCRONIZATION

1513 DOSDeY Q42777 020000 012456 81C 8CLK, JTXCSR :POKE CLK DOWN

1514 DOSO72 0S2777 020000 012450 BIS sCLK. 3TXCSR :POKE CLK UP

1515 %1g 815 MOV Ryggbr R3 :SET UP FOR ERROR MESSAGE
1816 1 1 1 MOV 8126, RO ExPeECTED

1517 005110 012767 000012 174022 MOV 810. (SHIFT -8 OF SHIFTS

1518 005116 012767 001262 174020 MOV . 81252 TEMPI :DATA CHAP

1519 DOS124 0084767 012110 JSR PC, RPOKE “SHIFT IN THIS CHAR
1520 005130 105777 012400 TSTB  SRKCSR ;RXDONE *

1821 00513 100401 BM] B4S

1522 005136 104000 HLT -RXDONE SHOULD BE SET

1523 005140 . BYS:

1524 5G5i%0 017701 Gig3™ MOV JRXDBUF R :RCTUAL

1526 00Si44 (020001 CMP RO,R1 ' ;COMPARE'EXPECTED VS. RCTUAL
1526 005146 001401 BEQ 65$

1697 005150 104002 HLT 2 RECEIVED DATA DID NOT MATCH
128 'EXPECTED DATA - CHECK MRINT DATA
1529 :OR RECEIVER LOGIC

1530 005152 658:

1§31 00S1S2 012767 000012 173760 MOV 810. ,SHIF?Y 8 OF SHIFTS

1832 005160 012767 001252 1737%6 MOV 81252 TEMPI :DATA CHAR

1633 005166 004767 012046 ISR PC, RPOKE sSHIFT IN THIS CHAR
15 :NOW SHIFT IN A SECOND CHARARCTER WITHOUT RERDING KXDBUF
53 T ow mmeogme Ry MGl Al

15% %@ 767 8?553% JSR Pé SéoxE Egnm IN THIS CHAR
1638 005212 012700 140128 MOV 81400007125,R0 ;EXPECTED DATR PLUS
1539 :RXERR & OVRRUN

IE40 00S216 0i7701 012316 MOV JRXDBUF ,R1 ' ACTUAL

- m— — —
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1541
55
1S%4
1545

1546
1847

1554

Pt Pt Pt Pt Pt Pt Pt Pt P—it Pt Prth Pmut

R FRRRRLA & A A

00S222 (020001
ooesed 184088

005230
005230 104400

00S232 012767
012767
777

0S2
00sa2s4 012777
00Sese 052777
005270 012777

00576 01777

173666
173650
012274
0lezte
0leeel

012252

173560
173556

cHP RO,RI  ;COMFRRE EXP VS. RCT

BE 6$
HL? 3 :SPECIFICALLY LOOK AT RXERR 3
: OVRRUN BITS...THEY BOTH SHOULD BE 3ET

bbs:

SCOPE

R T T B T
5515 EETERH?NE *HRT I7 un? SELECTE cokngcer
+ + (OVRRUN, RXERR)

+ + MODE ; IS¥YMOD

¢ sLENGTH:EIGHT
s s CHAR: 252

TST10:  Mbv 810, TSTNO -SAVE THIS
MOV 87SHII, NEXT G0 TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
MOV 8ISYMOD, @PARCSR :SET THE MOOE
BIS SMRESET,dTXCSR :MASTER RESET

:SET MRINT DAQTR,CLK,BREAK,SMAINTENANCE MODE
MOV sMTORTA! CLK!MINT ' BREAK , aTXCSR

:SET MODE ,8 OF BITS,PARITY SENSE,3LOAD SYNC REG
MOV $I1SYMOD! EIGHT ' NOPAR' J, PARCSR
BIS 8SYNSCH, 9RXCSR  :SET &YNC SEARCH
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
B1¢ 8CLK, 3TXCSR -POKE CLK DOWN

8IS $CLK QTXCSR :POKE CLK UP
;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC 8CLK, STXCSR ;POKE CLK DOWN
aIs 8CLK | JTXCSR s POKE CLK UP
MOV RXDBUF , R3 -SET UP FOR ERROR MESSAGE
MOV 8252,R0 ;ExPeCTED
MOV 810. ) SHIFTY .8 OF SHIFTS
MOV 81524 TEMP] :DATA CHAR
JSR PC, RPOKE SHIFT IN THIS CHAR
7578 SRKCSR ;RXDONE *
BNI 648
s HLT sRXDONE SHOULD BE SET
MOV SRXDBUF , R1 : ACTUAL
SES Egtnx - COMFARE ' EXPECTED VS. ACTUAL
HLT 2 ;RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MAINT DATR
ocs :OR RECEIVER LOGIC

MOV 810.,SHIFT .8 gr gnxrrs

MOV 81624 TEMP! :DATA CHAR

ISR PC . RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER' WITHOUT READING RXDBUF

MOV 810. ,SHIFT 8 OF SHIFTS

MOV 81524 TEMPL :DATA CHAR
JSR PC, RPOKE SSHIFT IN THIS CHAR
MOV #140000'252,R0  ;EXPECTED DATR PLUS

Ste 0031
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BEnG

C_MCyll
P11l

oS
005“?0

00Su47e
005472

0OS47M

DOSEl
BOSS16
00S524

28T (Big°TTE 047 PACGE 3

Lot

001401
104002

104400

104000

017701
020001
001401
104002

012767
012767
004767

012767
012767

012054

006000
020000
020000
020000
020000
011730
000377
000012
001776

011404
011674

011670

000012
001776
011342

000012
001776

173424
73406
12032

012020

G12016

012010
11776
11760
11766
11760
11752
1Y

00 00 OO0

3

73316
73314

Dot Pun

173254
173252

173234
173232

MOV

GO3

RXERR & OVRRUN
SYB?UF RéOHPQPE EXP Vt RCY

CMP
BEQ ast
HLT 2 :SPECIFICALLY LOOK AT RXERR 8
: OVRRUN B1TS...THEY BOTH SHOULD BE SET
o8%: oo
,,rnxs TEST VERIFYS WORD LENGTH SELECT OF THE
‘RECEIVER SECTION,IT USES THE ERROR FLAGS
ro DETERMINE THAY IT WAS SELECTED CORRECTLY
: (OVRRUN, RXERR)
nooe 15¥M0D
..LENGTH excur
: CHAR: 377
TST11: ﬁbv 811, TSTNO -SAVE THIS
MOV lTSfSE NEXT :G0 _T0 THIS TEST WHEN THRU
BIS SMRESEY, 3TXCSR  ;MASTER RESE
MOV 81SYMOD, @PARCSR :SET THE HODE
BIS SMRESET, JTXCSR  :MASTER RESET
:SET MAINT DATR,CLK,BREAK, SMAINTENANCE MODE
MOV sMTDATA'CLK!MINT!BREAK,3TXCSR
:SET MODE ,# OF BITS Pmm SENSE, BLORD SYNC REG
MOV 81SYHOD! EIGHT 'NOPARY 0, 3PRRCSR
axs $SYNSCH aaxcsa .GET SYNC SEARCH
-POKE CL¥ TO GEY RECEIVER INTO SYNCROIZATION..
81¢C tCLK arxcsa POKE CLK DOMN
BIS TXCSR OKE CLK UP
-POKE CLK T0 GET LOGi” INTO svuchonxznrxon
BIC $CLK, JTXCSR + POKE CLK ooun
BIS CCLK 3TXCSR : POKE C
MOV X08(F ,R3 :GET up roa ERROR MESSAGE
MOV 3377 RO :EXPECTED
MOV SHIFT 84 OF SHIFTS
MOV .1775 TEMP] :DATA CHAR
JSR RPOKE SSHIFT IN THIS CHAR
Eg}a gnkcsn - RXDONE %
cus HLT :RXDONE SHOULD BE SET
MOV SRXDBUF , R} :ACTUAL
SEE pg‘nx s COMPARE EXPECTED VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
‘EXPECTED DATA - CHECK MAINT DATA
ccs :0R RECEIVER LOGIC
MOV $10.,SHIFT .4 OF SHIFTS
MOV 31776 TEMP] :DATR CHAR
JSR KE SHIFT IN THIS CHAR
:NOW SHIFT IN A sebono CHARACTER' WITHOUT READING RXDBUF
MOV 810. ,SHIFT :8 OF SHIFTS
MOV 81776, TEMPL *DATA CHAR

StEq 0032
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1707
1708

005712
JOS716

00S7ee
00S726
005730
00573¢

005734
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SRR
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[

5888 BBSESEE
PREY

004767
012700

017701
020001
001401
104002

1CY400

012767
012767
0s277?
012777
52777

012777

012777
777

104000

017701
020001
001401
104002

012767
012767
004767
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cll3ee
140377

0l1ble

000014
000400

:

&

064001

8

020000
020000

SoREeo
=

011426

173162
173144
011570
011556
011554

011546

—— PP e
& unon
oL

Pt Pos Gt Pmn e e
(ValVa BN Y]
80—- —

o o

173054
173052

JSR PC, RPOKE :SHIFT IN THIS CHAR
MOV #1400001377,R0  EXPECTED DRTA PLUS
'RXERR & OVRRUN

MOV JRXDBUF ,R1 :ACTUAL
CMP RO,R1  ;COMPARE EXF VS. ACT
3E0 66$
HLT 2 -SPECIFICALLY LOOK RT RXERR &
e :OVPRUN BITS...THEY BOTH SHOULD BE SET
SCOPE
-+ THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s tRECEIVER SECTION,IT USES THE ERROR FLAGS
170 DETERMINE THAY IT WAS SELECTED CORRECTLY
+ + (OVRRUN, RXERR)
: 1 MODE : 1S¥YMOD
s ;LENGTH: EIGHT
; s CHAR:
15T12: fdv 812, TSTNO :SAVE THIS

MOV 87513, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
MOV $1SYMOD . QPARCSR :SET THE MODE
BIS SMRESET,JTXCSR :MASTER RESET

:SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
MOV sNTOATAI CLKIMINT 'BREAK , 3TXCSR

:SET MODE ,# OF BITS,PRRITY SENSE,8LORD SYNC REG
MOV $I1SYMOD!EIGHT 'NOPAR' 0, SPARCSR
BIS 8SYNSCH. 9RXCSR  :SET SYNC SERRCH
é?gxs CL§CEE ggicgscsxvskpézgocfznggagznrxon....
BIS 8CLK, aTXCSR : POKE CLK UP
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, TXCSR POKE CLK DOWN
BIS esLK . STXCSR :POKE CLK UP
ngg génggr,naEXPECTséser UP FOR ERROR MESSAGE
MOV 810, SHIFT .8 OF SHIFTS
MOV c1oooblsn91 :DATA CHAR
%gga sgkggn E-RXDONE jSHIFT IN THIS CHAR
4§ '

BMI 3
- HLT RXDONE SHOULD BE SET
] MOV 3RXDBUF, Rl -ACTUAL
ggg 22‘R1 - COMPARE 'EXPECTED V5. RCTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
:EXPECTED DATA - CHECK MRINT DATA
s :OR RECEIVER LOGIC

MOV 810. SHIFT 8 OF SHIFTS

MOV $1000, TEMP1 :DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER'WITHOUT READING RXDBUF

Stq 0033
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B le DI MM ER M ST BT
/i b { re H
1711 154 86u7§r 8?1828 Jgﬂ Pé,HQOKE :SHIFT IN THIS CHAR
1712 006160 012700 140000 MOV #140000'0,R0  ;EXPZCTED DATA PLUS
1713 ;nx;nn 3 OVRRUN
1714 008164 017701 011350 MOV JRXDBUF ,R1 "R TURL
1715 006170 520001 CMP RO,RI ' ;COMPRRE EXP VS. ACT
1716 006172 001431 BEQ 86
1717 006174 104002 HCT 2 :SPECIFICALLY LOOK AT RXERR 3
1718 :OVRRUN BITS...THEY 30TH SHOULD BE SET
1719 006176 66%:
1720 006176 104400 SCOPE
1721 - THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1722 : 'RECEIVER SECTION 1T USES THE ERROR FLAGS
1723 ::TO DETERMINE THRY IT WAS SELECTED CORRECTLY
1724 ;3 COVRRUN, RXERR)
1725 s :MODE : SYREXT
1726 +:LENGTH:FIVE
gg ;;CHAR: 2S
1729 006200 012767 DOOOIS 172720 TST13: Adv 813, TSTNG :SAVE THIS
1730 006206 012767 006426 172702 MOV 8TSH1Q, HEXT G0 TO THIS TEST WHCN THRU
1731 006214 082777 000400 011326 BIS sMRESEY  JTXCSR  ;MASTER RESET

| 1732 006222 0ia777 020000 011314 MOV 8SYNEXT. QPARCSR :SET THE MOOE
1;33 005230 052777 000400 Ol13i2 BIS SMRESET OTXCSR  :MASTER RESET
1735 :SET MAINT DATR,CLK,BREAK,SMAINTEN ~ “SOOE
i;gg 006236 012777 064001 011304 MOV sHTORTA! CLKYMINT !Biern, w1 XCSR

{
1738 -SET MIDE , s OF BITS,PARITY SENSE,BLOAD SYNC REG

| 1739 00pe44 012777 020000 011272 MO 8SYNEXT!FIVE INOPRA! 0, JPARCSR
1740 006252 052777 000020 011254 BIS 8SYNSCH GRXCSR  :SET SERRCH SYNC
1791 -POKE CLK TO GET LOGIC INTO SYNCRONIZRTION
1742 006260 042777 011262 BIC 8CLK, JTXCSR +POKE CLK DOWN
1743 006256 052777 020000 01125 BIS #CLK STXCSR :POKE CLK UP

| 1744 006274 016703 OI1240 MOV RX08(F , R3 :SET UP FOR ERSOR MESSAGE
1745 00630J 012700 000025 MOV 825, R0’ EXPECTED
1746 006304 012767 000N0S 172626 MOV 85, SHIFT 8 OF SHIFTS
1747 006312 012767 000025 172624 MOV 825 TEMP) :DATA CHAR
1748 006320 O0N767 010714 JSR PC, RPOKE *GHIFT IN THIS CHAR
1749 006324 105777 011204 TSTB  JRXCSR ;RXDONE *

1750 006330 100401 BM] B4S
1751 006332 104000 HLT :RXDONE SHOULD BE SET
1752 D063M BYS:
1753 0063 017701 011200 MOV JRXDBUF,R! s ACTUARL
1754 006340 020001 CMP RO,R1  ;COMPARRE EXPECTED VS. RCTUAL
1765 006342 001401 BEQ 664
1756 006344 104002 HLT 2 :RECEIVED DATA DID NOT MATCH
1757 ‘EXPECTED DATA - CHECK MRINT DATA
1758 ‘OR RECEIVER LOGIC
1759 006346 658:
1760 006346 012767 000005 17256M MOV 85, SHIFY .8 OF SHIFTS
1761 0063s4 012767 000025 172562 MOV 825 TEMPL :DATA CHAR

. 1762 006362 004.67 010652 ISR PC . RPOKE :SHIFT IN THIS CHAR
1763 :NOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
1764 006366 0l27¢7 000005 172544 MOV a5, SHIFT .8 OF SHIFTS
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1765 006374 012767 000025 172542 MOV 825, TEMP] :DATA CHAR
1766 008402 004?67 010632 JSR PC, RPOKE :SHIFT IN THIS CHAR
1767 008406 012700 140025 MOV 2140000'25,R0  :EXPECTED DATA PLUS
176 :RXERR 8§ OVRRUN
1769 006412 01770! 011122 MOV JRXDBUF, R s ACTUAL
1770 0084i6 020001 CMP RO,R1 ', OMPRRE EXP VS. ACT
1771 008420 001401 9EQ 66$
1772 006422 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR 3
1773 :OVRRUN BITS...THEY BOTH SHOULD BE SET
1774 ooe424 8BS :
1775 008424 1044G0 SCOPE
1776 - THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1777 : {RECEIVER SECTION,IT USES THE ERROR FLAGS
17 ;;18 EETERHINE THRY 1T WAS SELECTED CORRECTLY
177 s s (CVRRUN, RXERR)
1780 : :MOOE : SYREXT
1781 s sLENGTH:FIVE
};Sg s ;CHAR: 12
1784 006426 012767 000016 172472 TSTI4: Hbv 814, TSTNO :SAVE TH.S
1785 006434 012767 006654 172454 MOV s75t1S NEXT GO TO THIS TEST WHEN THRU
1786 006442 0S2777 00OMD0 011100 BIS sMRESEY, STXCSR  ;MASTER RESET
1787 006450 Q12777 020000 011066 MOV 8SYNEXT, @PRRCSR :SET THE MODE
i;gg 00E4SE 052777 000400 011064 BIS SMRESET,JTXCSR :MASTER RESET
1780 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
i;gé 0064EM 012777 084001 011056 MOV sMTORTA! CLK!MINT 'BRERK , 3TXCSR
1793 :SET MODE ,# OF BITS,PRRITY SENSE,3LOAD SYNC REG
1794 00e472 012777 020000 011044 MOV sSYNEXT!FIVE 'NCPAR' 0, PARCSR
1795 006500 052777 000020 011026 BIS $SYNSCH. 3RXCSR  :SET SEARCH SYNC
17% :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1797 006506 (042777 020000 011034 BIC #8CLK, JTXCSR :POKE CLK DOWN
1798 006514 052777 0-0000 011026 8IS #CLK 9TXCSR :POKE CLK UP )
1799 006522 016703 0il012 MOV RXDBUF , R3 :GET UP FOR ERROR MESSAGE
006526 012700 000012 MOV 812.R0’ ;EXPECTED
1801 006532 012767 000005 172400 MOV 85, SHIFT 8 OF SHIFTS
1802 006540 012767 000012 172376 MOV 812, TEMP1 :DATA CHAR
1803 006546 004767 010466 TSR PC, RPOKE :SHIFI IN THIS CHAR
1804 006552 105777 010756 TSTB  SRKCSR ;RXDONE *
1805 006556 100401 aM] BYS
1806 006560 104000 HLT :RXDONE SHOULD BE SET
1807 00656 BuYS:
1808 70656 017701 010752 MOV JRXDBUF, R : ACTUAL
1809 006566 020001 CMP RO,R1 ' ;COMPARE' EXPECTED VS. ACTUAL
1810 DO6S70 001401 BEQ 6S$
1811 006572 104002 HCT 2 :RECEIVED DATA DID NOT MATCH
1812 'EXPECTED DATR - CHECK MAINT DATR
1813 :0R RECEIVER LOGIC
1814 006574 65%:
1815 DOBS74 012767 00000S 172336 MOV 85, SHIFT .8 OF SHIFTS
1816 006602 012767 000012 172334 MOV s12, TEMPL :DATA CHAR
1817 206610 004767 010424 JSR PC, RPOKE 'SHIFT IN THIS CHAR
1818 :NOW SHIFT IN A SECUND CHARACTER'WITHOUT READING RXDEUF
1819 00ebIM 012767 000005 172316 MOV 85, SHIFT .8 OF SHIFTS
1820 00eb22 012767 000012 172314 MOV %12, TEMF1 :DATA CHAR
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006640
006ENY
006646
006650
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006676
006704
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007016
007020

007022
007022
007030
007036
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004767
012700

017701
020001
0014C1
104002

104400

012767
012767
052777
012777
052777

012777

012777
052777

Q42777
052777
016703
012700
012757
012767
004767
105777
100401
104000

017701
020001
001401
104002

012767
012767
004767

012767
012767
004767

010404
140012

010674

000017
007102
000400
020000
000400

064001

020000
000020

020000
02000
013564
00037
000005
100037
010240
610530

010Sc4

000005
000037
010178

000005
000037
010156

172244
172226
010652
010640
010636

010630
010616
010600
010606
0i0

172152
172150

09:17 PRGE 38

KO3

TSR PC, RPOKE sSHIFT IN THIS CHAR
MOV #140000112,R0  EXPECTED DATA PLUS
RXERR & OVRRUN
MOV IRXDBUF R} + ACTUAL
CMP RO,R1 ':COMPARE'EXP VS. ACT
BEQ 66$
HLT 2 -SPECIFICALLY LOOK RT RXERR 3
e s OVRRUN BITS...THEY BOTH SHOULD BE SET
SCOPE
,,THIS TEST VERIFYS WORD LENGTH SELECT OF THE
'RECEIVER SECTION.IT USES THE ERROR FLRGS
ro DETERMINE THRY IT WAS SELECTED CORRECTLY
: (OVRRUN, RXERR)
nooz - SYREXT
,,LENGTH FIVE
HAR: 37
TSTIS: ﬁbv $15, TSTNO :SAVE THIS
MOV sTSt1E, NEXT TO THIS TEST WHEN THRU
BIS $MRESEY, 9TXCSR  ;MASTER hess
MOV $SYNEXT) JPARCSR sSET THE MODE
BIS $MRESET,@TXCSR :MASTER RESET
;SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
MOV aMTDRTA!CLK!MINTYBREAK,TXCSR
;SET MODE , OF BITS,PARITY SENSE &Looo SYNC REG
Mot sSYNEXT!'F IVETNOPARR' 0, aPARCSR
axs $SYNSCH, JRXCSR  :SET’ SERRCH SYNC
:POKE CLK T0 GET LOGIC INTO svnchgnxénrxon
BIC CLK, JTXCSR K DOWN
BIS #CLK  9TXCSR :POKE CLK UP
MOV RXDB(F , R3 :SET UP FOR ERROR MESSAGE
MOV 37 RO’ ;EXPECTEO
MOV 85, SHIF .84 OF SHIFTS
MOV 837 TEHPl :DATA CHAR
JSR PC, APOKE :SHIFT IN THIS CHAR
TSTB  3JRXCSR ;RXDONE %
BMI B4S
s HLT :RXDONE SHOULD BE SET
MOV JRXDBUF ,R1 :RCTUAL
ggz 5g¢n1 s COMPARE EXPECTED VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
:EXPECTED DATR - CHECK MAINT DATA
oo :OR RECEIVER LOGIC
MOV 85, SHIFT .4 OF SHIFTS
MOV oa? TEHPl onrn CHAR
JSR OKE :SHIFT IN THIS CHAR
-NOW SHIFT IN R ssbono CHARACTER' WITHOUT READING RXDBUF
MOV IFT .4 OF SHIFTS
MOV 33? TEHPI :DATA CHAR
JSR PC, RPOKE SSHIFT IN THIS CHAR

SEQ 0036
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007066
DO?O?E

0070”6

00100
007100

007102
007110
007116
007124
007132

007140

007310

012700

017701
020001
0C1401
104002

104400

012767
012767
052777
012777
052777

012777

012777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104000

017701
020001
001401
104002

012767
012767
004767

012767
012767
C04767
012700

LO3

31-0CT-76 09:1T7 PARGE 40
21-MRY-76 00:03

140037
010446

000020
007330
000400
020000
000400

064001
020000

000020
020000

010302

010276

00000S
000000
007750

000005
000000
007730
140000

172016
172000
01C-i2Y
010412
010410

010402

010370
010352

010360
010352

171724
171722

171662
171660

171642
171640

MOV #140000!37,R0 EXPFCTED CATA PLUS
;RXERR & OVRRUN

MOV JRXDBUF ,R1] s ACTUARL
EEE EOsRI s COMPARE EXP VS. RCT
HLT 2 ; SPECIFICALL' LOOK AT RXERR &

sOVRRUN BITS...THEY BOTH SHOULD BE SET

bES:
SCOPE
> :THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: sRECEIVER SECTION,IT USES THE ERROR FLAGS
TO DETERMINE THAY IT WAS SELECTED CORRECTLY
: (OVRRUN, RXERR)
MODE : SYREXT
,,LENGTH FIVE
;i CHAR: 0
TST16:  fdv »ib, TSTNO s SAVE THIS
MOV 875317 NEX 70 THIS TEST WHEN THRU
BIS :naesst arxcsn - MASTER hsser
MOV $SYNEXT, @PRRCSR :SET THE MODE
BIS $MRESET,QTXCSR ;MASTER RESET
+SET nnrnr onrn CLK, BREAK , SMRINTENANCE MODE
" sMTOATA! CLK!MINT ' BREAK , 3 TXCSR
:SET MOCE & OF BITS,PARITY SENSE 8LOAD SYNC REG
MY $SYNEXT!F IVE'NOPAR! 0, 3PARC 3R
BIS 8SYNSCH_ RXCSR  :SET SEARCH SYNC
:POXE CLk 70 GET 1.0GIC INTO SYNCRONIZATION
BIC #CL~, ATXCSR s POKE CLK ooun
BI> sCLK, J'XCSR POKE CLK
MGV RXOBUS, 05 :GET UP ron ERROR MESSAGE
MOV su RO ,EXPECTEb
MOV 85, SHIFT -8 OF SHIFTS
MOV uo TEHPl :DATR CHAR
JSR POKE *SHIFT IN THIS CHAR
1518 achsa sR>DONE
EMT A
us hLT -RXDONE SAOULD BE SET
MOV IRXDBUF ,R1 CTUAL
ggg Egsn1 COMPRRE EXPECTED VS. ACTUAL
HLT 2 RECEIVED DRTA DID NOT MATCH
:EXPECTED DATR - CHECK MAINT DATA
s :0R RECEIVER LOGIC
MOV 85, SHIFT : 8 OF SHIFTS
MOV co TEHPI *DATA CHAR
ISR POKE tSHIFT IN THIS CHAR
:NOW SHIFT IN A sséono CHﬂRﬂCTER WITHOUT RERDING RXDBUF
MOV 85, SHIFT ;¥ OF SHIFTS
MOV 0, TEMP] :DATA CHAR

JSR PC, RPOKE tSHIFT IN THIS CHAR
MOV #140000! 0,R0 EXPECTED DRTR PLUS

SEQ 0037
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CZD0UB-C MRCYI1 27(1006) J1-0CT-76 08:17 PRGE 4l

OZDUBC.PI!  21-MAY-76 00:09 SEG 0038
1333 :RXERR 8 3VRRUM
1834 0073!4 017701 010220 MOV IRYDBUF, R} :ACTJAL
1935 007320 020001 CMP RO,RI ';COMPARE'EXP VvS. RCT
193 007322 OCINOL BEQ &6
1937 007224 104002 HLT 2 :SPECIFICALLY LOC AT RXERR 3
1938 :OVRRUN BITS...THEY BOTH SHOULD BE SET
1939 007326 66%:
1940 007326 104400 SCOPE
1941 - THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1942 : 'RECEIVER SECTION.IT USES THE ERROR FLAGS
1943 s+ T0 DETERMINE THAt IT WAS SELECTED CORRECTLY
1944 : 1 (OVRRUN, RXERR)
1945 s MODE: SYREXT
1946 s sLENGTH:SIX
ig:g s s CHAR: 25
1949 007330 012767 000021 171570 7TST17: AV #17,. TSTNO :SAVE THIS
1950 00733 O0lé76? 007556 171552 MOV sT5H18, NEXT G0 TO THIS TEST WHEN THRU
1951 007344 052777 000400 010176 BIS $MRESEY, dTXCSR  ;MASTER RESET
1952 007352 0J2777 020000 O1016Y MOV $SYNEXT, aPARCSR :SET THE MODE
igga 007360 052777 000400 010162 BIS sMRESET,JTXCSR ;MASTER RESET
1955 :SET MAINT DATA,CLK, BREAK,3MAINTENANCE MODE
iggg 0073sk 012777 064001 010154 MOV sMTOARTA! CLK!MINT'BREAK, dTXCSR
1958 ;SET MODE ,# OF BITS,PARITY SENSE 8LOAD SYNC REG
1959 007374 012777 022000 010142 MOV 8SYNEXT!SIX!NOPARI O, 9PARCSR
1960 007402 052777 000020 010124 BIS 8SYNSCH_ 3RXCSR  ;SEY SEARCH SYNC
1961 :POKE CLK TO GET LOGIC INTG SYNCAONIZATION
1962 007410 042777 020000 010132 BIC #CLK, JTXCSR :POKE CLK DOMWN
1963 0074i6 0S2777 020000 010124 BIS 8CLK QTXCSR POKE CLK UP
1964 007424 016703 0i0110 MOV RXDBUF , R3 GET UP FOR ERROR MESSAGE
1965 007430 012700 000025 MOV 825, R0’ EXPECTED
1966 007434 012767 000006 171476 MOV 85, SHIFT -4 OF SHIFTS
1967 007442 012767 000025 171474 MOV 8257 TEMP1 :DATA CHAR
1968 007450 004767 007564 ISR PC, RPOKE :SHIFT IN THIS CHAR
1869 007464 105777 010054 TSTB  RXCSR ;RXDONE *
1870 007460 100401 BMI E4S
1971 007462 104000 HLT :RXDONE SHOULD BE SET
1972 00746M BYS:
1973 007464 017701 010050 MOV ARXDBUF R} - ACTUAL
1874 007470 020001 CHP RO,R1 ’;COMPARE’EXPECTED VS. ACTUAL
1975 007472 (01401 BEQ 654
1976 Q07474 104007 HLT 2 :RECEIVED DATA DID NOT MATCH
1977 sEXPECTED DATA - CHECK MRINT DATA
1978 :OR RECEIVER LOGIC
1979 007476 5SS :
1980 007476 012767 000006 171434 MOV L SHIFT :# OF SHIFTS
198] 007504 0!2767 000025 171432 MOV 825 TEMPI :DATA CHAR
1982 007512 004767 007522 JSR PC . RPOKE ISHIFT IN THIS CHAR
1983 sNOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
1884 007516 012767 000006 171414 MOV 86, SHIFT s8 OF SHIFTS
1885 007524 018767 000025 171412 MOV 825, TEMPI :DATA CHAR
1986 007532 004767 007502 JSR PC, RPOKE :SHIFT IN THIS CHAR
1987 007536 012700 140025 MOV #140000'25,R0  EXPECTED DATA PLUS

1988 ‘RXERR & OVRRUN
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O0UB-C MACYL! 27(1006) J1-02T-76 09:17 PAGE 4e

OZDUBC.P1!  21-MAY-76 02:00 SEQ 0039
1989 007542 017701 007772 MoV SRXDBUF,R1 - ACTUAL
1990 007546 020001 CMP RO,R1 ' ;COMPARE EXP VS. ACT
1831 007550 001401 BEG 66
1892 007532 104002 HCT 2 SPECIFICALLY LOOK AT RXERR 8
1993 :OVRRUN BITS...THEY BOTH SHOULD BE SE”
1994 007554 £6S: A
1995 007554 104400 SCOPE
1996 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1997 + \RECEIVER SECTION,IT USES THE ERRCR FLAGS
1938 2170 DETERMINE THAt IT WAS SELECTED CORRECTLY
1999 s 3 (OVRRUN, RXERR)
£000 : *MODE : SYREXT
2001 s sLENGTH: SIX
5885 ; s CHAR:S2
2004 007556 012767 000022 171342 TsTie: fdv $18, TSTNO :SAVE THIS
2005 007564 012767 010004 171324 MOV #7513, NEXT :G0 TO THIS TEST WHEN THRU
2006 007572 052777 000400 007750 BIS #MRESEY, 3TXCSR  ;MASTER RESET
2007 007600 012777 020000 007736 MOV #SYNEXT ) JPARCSR *SET THE MOOE
5883 007606 052777 000400 007734 BIS SMRESET,3TXCSR :MASTER RESET
2010 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
Sgié 007614 012777 DB4001 007726 MOV $MTOATA!CLKYMINT'BREAK, 3TXCSR
2013 ;SET MODE , OF BITS,PARITY SENSE 3LOAD SYNC REG
2014 007622 012777 022000 007714 MOV $SYNEXT!SIX!NOPAR) 0, QPARCSR
2015 007630 052777 000020 007676 BIS 8SYNSCH_aRXCSR ;SEY SEARCH SYNC
2016 -POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2017 007636 042777 020000 007704 BIC #CLK, §TXCSR POKE CLK DOWN
2018 007644 052777 020000 007676 8IS #CLK | TXCSR *POKE CLK UP
2019 007652 016703 007662 MOV RXCBUF, R3 :SET UP FOR ERROR MESSAGE
2020 007656 012700 000052 MOV #52. R0’ ;EXPECTED
2021 007662 012767 000006 171250 MOV 86, SHIFT -4 OF SHIFTS
2022 007670 012767 000052 171246 MOV 852 TEMPI :DATA CHAR
2023 007676 004767 007336 ISR PC, RPOKE :SHIFT IN THIS CHAR
2024 007702 105777 007626 7518 @RXCSR ;RXDONE *
2025 007706 100401 BMI 643
2026 007710 104000 HLT :RYDONE SHOULD BE SET
2027 007712 BYS:
2028 007712 017701 007822 MOV JRXDBUF, Rl s ACTUAL
2029 007716 020001 CMP RO,R1 ' ;COMPARE EXPECTED VS. ACTUAL
2030 007720 001401 BEQ 65$
2031 007722 104002 HLT 2 :RECEIVED DATA DID NOT MATCH
2032 EXPECTED DATR - CHECK MAINT DATA
2033 :0R RECEIVER LOGIC -
2034 007724 65%:
2035 007724 012767 000006 171206 MOV $6,SHIFT .4 OF SHIFTS
2036 007732 012767 000052 171204 MOV 852 TEMPI :DATA CHAR
2037 007?740 004767 007274 JSR PC, RPOKE ;su*rr *N THIS CHAR
2038 :NOW SHIFT IN A SECOND CHARACTER’WITHOUT READING RXDBUF
2033 007744 012767 000006 171166 MOV 86, SHIFT : 8 OF SHIFTS
2040 007752 012767 000052 171164 MOV 452, TEMP1 :DATA_CHAR
2041 007760 004767 00728 JSR PC, RPOKE sSHIFT IN THIS CHAR
2042 007764 012700 140052 MOV #140000'52,R0  ;EXPECTED DATR PLUS
2043 sRXERR & OVRRUN

2044 007770 017701 007544 MOV JRXDBUF,R! s ACTURL
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9:1" PAGE 43
CHP RO,Rl  :COMFARE EXP VE. ACT
BEQ 668
HLT 2 +SPECIFICALLY .00K AT RXEFP 3
68 :OVRRUN BITS...THEY BOTH SHOULD BE SET
SCOPE )
:sTHIS TEST VERIFYS WORD LENGTH SEL:CT OF THE
: sRECEIVER SECTION.IT USES THE ERPC3 FLAGS
::70 DETERMINE THAt IT WAS SELECTED CORRECTLY
: : (OVRRUN, RXERR)
: s MODE : SYNEXT
s LENGTH:SIX
s 277
15713:  fdv 919, TSTNO :SAVE THIS

MOV 87520, NEXT -0 TO THIS TEST WHEN THRU
BiS aMRESEY, TXCSR ;s MASTER RESE
MOV #CVNEVT'D000CO GET THE nooe

T SMRESET,JTXCSR ;MAZTER RESET

:SET MAINT DATR,CLK, BREAK, SMAINTENANCE MODE
MOV sMTDRTA!CLK!MINTIBREAK, aTXCSR

:SET MODE ,8 OF BITS,PARITY SENSE sLono svnc REG
Mo¥ sSYNEXT!SIX!NOPRR! 0, PARCSR
BIS sSYNSCH_ JRXCSR sat SEARCH SYNC
-POYE CLK TO GET LOGIC INTO SYNCRONIZAT ION
BIC aCLK, STXCSR <POKE CLK DOWN

BIS sCLK  8TXCSR :POKE CLK UP

MOV RXDB{¥ ,R3 :SET UP FOR ERROR MESSAGE
MOV 877 no ExPEC Ted

MOV 86, SHI 8 OF SHIFTS

MOV 877 TEHPl :DATA CHAR

JSR PC, RPOKE

:SHIFT IN THIS CHAR
TSTB SRKCSR ;RXDONE 3

BM] BY4S
s HLT RXDONE SWOULD BF SET
) MOV SRXDBUF ,R1 :ACTURL
SEE Eg§n1 - COMPARE ' EXPECTED VS. ACTUAL
HCT 2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MRINT DATA
ccs :OR RECEIVER LOGIC
T MoV 86, SHIFT 8 OF SHIFTS
MOV m TEMP] .omn CHAR
ISR ¢, RPOKE _HIFT IN THIS CHAR
:NOW SHIFT IN A sztom cmmcrsn uxmour READING RXDBUF
MOV SHIFT :8 OF SHIFTS
MOV n?# TEMP] :DATA CHAR

JSR PC, RPOKE :

MOV 8140000177 ,R0  ;EXPECTED DATA PLUS
nmmaommn

MOV SRXDBUF , R}

;s RCTUAL
cHp RO,R! ';COMPARE EXP VS. ACT

See 0040
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MACYLL 27, 1006) Di=2iT-T6 09:17 PAGE
11 2I-%av=78 £3:03 SEQ D041
012224 081401 BLQ  bES
018226 104032 WY 2 ;SPECIFICALLY LOOK AT RXERR &

}OVRRUN EITS...THEY BOTH SHOULD BE SET
010232 66S: R
010230 104400

SCOPE
+ s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: RECEIVER SECTION,IT USES THE ERROR FLAGS
::TC DE TERMINE TmAt 1T WAS SELECTED CORRECTLY
: 1 (OVRRUN, RXERR)
: 1MODE: SYREXT
s s LENGTH:SIX

HAR: 0

LK)
"

010232 012767 002024 170866 18720, Fdv 820, TSTNO sSAVE THIS
9100 0 012767 010460 170650 MOV aTSt21 NEXT G0 TO THIS TEST WHEN THRU
010546 082777 0O00M00 007279 BIS sMRESEY, 3TXCSR  ;MASTER RESET
010264 012777 020000 007262 MOV eSYNEXT . QPARCSR ;SET THE MODE
010262 05777 000800 007260 BIS SMRESET.JTXCSR :MASTER RESET
:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
010270 012777 064001 007252 MOV sMTOATA! CLK!MINT!BREAK , aTXCSR
:SET MODE ,8 OF BITS,PARITY SENSE,8LOAD SYNC REG
01C276 012777 022000 007240 MOV sSYNEXT!SIx!NOPRR! 0, SPARCSR
010304 052777 000020 007222 BIS 8SYNSCH_ RXCSR :SEY SERP H SYNC
:POKE CLK TO GET LOGIC INTO SYNCRONIZAT:.
010312 042777 020000 007230 B1C #CLK, 9TXCSR sPOKE CLK DOWN
010320 0s2777 020000 007222 8IS sCLK JTXCSR :POKE CLK UP
0:0326 016703 007206 MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
016332 012 000000 MOV 8G,R0 ~ EXPECTED
010336 012767 000006 170574 MOV 86 SHIFT -8 OF SHIFTS
010344 012767 ONO0O0 170572 MOV 0. TEMP] :DATA CHWR
010352 004767 (06662 JSR PC . RPOKE :GHIFT IN THIS CHAR
010356 105777 007152 7578 SRXCSR ;RXDONE *
010362 10001 BM] B4
010364 104000 HLT RXDONE SHOULD BE SET
010366 BY4S:
010366 017701 007146 MOV RXDBUF ,R1 : ACTUAL
010372 020001 CHP RO,RI ' ;COMPARE EXPECTED VS. RCTUAL
010374 001401 BEQ 5S¢
010376 | HLT 2 :RECEIVED DATA DID NOT MATCH
:EXPECTED DATA - CHECK MAINT DATA
:OR RECEIVER LOGIC
010400 6SS:
CI0400 012767 000006 170532 MOV 86, SHIFT 8 OF SHIFTS
010406 012767 000000 170S30 MOV 0. TEMP] :DATA CHAR
010414 004767 006620 JSR PC’ RPOKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER'WITHOUT READING RXDBUF
010420 012767 000006 170512 MOV 86, SHIFT :8 OF SHIFTS
010426 012767 000000 170510 MOV 80, TEMP! :DATA CHAR
010434 004767 006600 JSR PC RPOKE :SHIFT IN THIS CHAR
OI0M40 012700 140000 MOV ¢140000'0,R0  ;EXPECTED DATR PLUS
*RXERR & OVRRUN
010444 017701 007070 MOV 3RXDBUF,R1 + AC TUAL
010450 020001 CHP RO,Rl ' ;COMPARE'EXP VS. ACT
010462 001421 BEQ 66¢
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COUB-C MACYLL 27110060 21-C0T-T% 09:17 PARGE 4S

D<DUBC.P1Y 21-MRY-76 00:02 SEQ 0042
2157 QI104S4 104002 HLT 2 SPECIFICALLY LOOK AT RXERR &
2138 :OVRRUN BITS...THEY BOTH SHCULD BE SET
2159 D174Sh BES:

2160 010486 1044CC SCOPE
2161 s« THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2162 : \RECEIVER SECTION,IT USES THE ERROR FLAGS
2163 :+T0 DETERMINE THAY 1T WAS SELECTED CORRECTLY
2164 + s (COVRRUN, RXERR)
21865 : {MODE : SYREXT
2.6b s (LEIGTH: SEVEN
gigg s :CHmR: 125
: LN
2169 01040 012767 000025 170440 TST21: fbv 821, TSTNO :SAVE THIS
2170 Dl0N66 012767 010706 170422 MOV 875122 NEXT GO TO THIS TEST WHEN THRU
2171 010474 052777 000400 007046 BIS sMRESEY, STXCSR  ;MASTER RESET
2172 010502 012777 020000 007034 MOV 8SYNEXT.PARCSR :SET THE MOOE
gig 010510 0S5277? 000MO0 007032 BIS SMRESET,3TXCSR ;MASTER RESET
2175 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
Si;? 010516 012777 064001 007C24 MOV sHTORTA!CLK!MINT ' BREAK, JTXCSR
2178 :SET MODE , 8 OF BITS,PRRITY SENSE,8LOAD SYNC REG
2179 010824 012777 024000 007012 Mo 8SYNEXT!SEVENTNOPAR' O, SPRRCSR
2180 010832 052777 000020 006774 BIS 8SYNSCH_RXCSR ;SET SERRCH SYNC
| 2181 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2182 010540 0NM2777 020000 007002 BIC eCLK, STXCSR sPOKE CLK DOWN
| 2183 010546 0S2777 (20000 006774 8IS 8CLK 9TXCSR :POKE CLK UP
2184 010554 016703 006760 MOV R R3 :SET UP FOR ERROR MESSAGE
2185 010560 012700 000125 MOV 8125, R0 EXPECTED
2186 010564 012767 000007 170346 MOV 87 SHIFT -8 OF SHIFTS
. 2187 010572 012767 000125 170344 MOV 8125, TEMPL :DATA CHAR
| 2188 m% 004767 006434 JSK PC, RPOKE :SHIFT IN THIS CHAR
2189 0i 105777 006724 7578 SRXCSR ;RXDONE %
| 2190 010610 100401 BN] B4S
2191 010612 104000 HLT :RXDCNE SHOULD BE SET
| 2192 010614 BYS:
| 2193 0I06l4 017701 006720 MOV JRXDBUF ,R1 s ACTUAL
2194 010620 020001 CMP RO,R1 ' ;COMPARE'EXPECTED VS. ACTUAL
2195 010622 001401 BEQ 5S¢
P 2196 01064 104002 HLT 2 -RECEIVED DATA DID NOT MATCH
| 2l% :EXPECTED DATA - CHECK MAINT DATA
| 2198 OR RECEIVER LOGIC
2199 010626 B65S:
2200 010626 012767 000007 170304 MOV 87 SHIFT .8 OF SHIFTS
2201 010634 012767 000125 170302 MOV 8125, TEMPL :DATA CHAR
2202 010eM2 004767 006372 JSR PC . RPOKE 'SHIFT IN THIS CHAR
. 2203 :NOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
2204 01064 012767 000007 170264 MOV 87 SHIFT .8 OF SHIFTS
2205 010654 012767 000125 170262 MOV 8125, TEMPL :DATA CHAR
2206 010662 004767 006352 JSR PC, RPOKE (SHIFT IN THIS CHAR
{2207 010666 012700 140125 MOV #1400007125,R0 :EXPECTED DATR PLUS
2208 'RXERR & OVRRUN
2209 mgn 017701 00&EY42 MOV JRXDBUF,R1 RCTUAL
2210 010676 1 CMP RO,R1 ';COMPARE'EXP VS. ACT
2211 010700 001401 BEQ bbs
2212 010702 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR &
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2213 . : OVRRUN BITS...THEY BOTH SHOULD BE SET
2214 0107 £68:

215 010704 104400 SCOPE

216 > < THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2217 : RECEIVER SECTION.IT USES THE ERROR FLAGS
2218 : 170 DETERMINE THAY IT WAS SELECTED CORRECTLY
2219 * 2 (OVRRUN, RXERR)

2220 : s MODE ; SYNEXT

222} s sLENGTH: SEVEN

Sgsg ; :CHAR: 52

5 b

2224 010706 012767 000026 170212 TSt22: fdv 822, TSTNO -SAVE THIS

2225 010714 012767 QL1134 170174 MOV s75t23, NEXT G0 T0 THIS TEST WHEN THRU
2e26 010722 000400 006620 BIS eMRESEY, 9TXCSR  ;MRSTER RESET

2227 010730 012777 020000 006606 MOV §SYNEXT, @PARCSR :SET THE MODE

2208 010736 062777 000400 006604 BIS SMRESET JTXCSR :MASTER RESET

2230 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE

ggé 010744 012777 064001 006576 MOV sMTOATA!CLK!MINT 'BREAK, aTXCSR

2233 GET MODE ,8 OF BITS PARITY SENSE,8L0AD SYNC REG

2234 010752 012777 024000 006564 MOY¥ 8SYNEXT ! SEVEN'NOPAR' 0, PRRCSR

223 010760 052777 000020 0DO6546 BIS 8SYNSCH_RXCSR ;SET SERRCH SYNC
2236 -POKE CLK T0 GET LOGIC INTO SYNCRONIZATION

2237 010766 (u777 % 006554 grc 8CLK, JTXC sPOKE CLK DOWN

2238 010774 0s2777 006546 IS sCLK TXCSR 'POKE CLK UP

2239 011002 016703 006532 MOV RXDBUF , R3 :SET UP FOR ERSOR MESSAGE
2240 011006 012700 % MOV 852, R0’ EXPECTED

2241 011012 012767 170120 MOV 87 SHIFT 8 OF SHIFTS

2242 011020 012767 00002 170116 MOV 852 TEMP] :DATA CHAR

2243 011026 004767 006206 JSR PC, RPOKE :SHIFT IN THIS CHAR
2244 011032 105777 006476 T5TB 9RXCSR :RXDONE *

2245 011036 10040! BN B4S

224 011040 10un00 HLT RXDONE SHOULD BE SET

2247 011042 6u4S:

2248 011042 017701 008472 MOV JRXDBUF , R1 s ACTUAL

2249 01104 020001 CMP RO,R1 ' ;COMPRRE EXPECTED VS. ACTUAL
2250 011050 001401 BEQ 65§ ]

2251 011052 104002 HLT 2 :RECEIVED DATA DID NOT MATCH
2262 'EXPECTED DATA - CHECK MAINT DATA
2253 :0R RECEIVER LOGIC

2254 011054 BSS:

2265 011054 012767 000007 170056 MOV 87 SHIFT .4 OF SHIFTS

2256 011062 012767 000052 170054 MOV 852 TEMP] 'DATR CHAR

2257 011070 004767 0061%4 ISR PC, RPOKE SHIFT IN THIS CHAR
2258 :NOW SHIFT IN A SELOND CHARACTER'WITHOUT READING RXDBUF
2259 011074 012767 000007 170036 MOV 87 SHIFT .8 OF SHIFTS

2260 011102 012767 0000Se 170034 MOV 852, TEMP) :DATA CHAR

2261 011110 DON767 006124 TSR PC, RPOKE :SHIFT IN THIS CHAR
2262 011114 012700 1400S2 MOV #140000752,R0  ;EXPECTED DATR PLUS
2263 :RXERR 8 OVRRUN

2264 011120 017761 006414 MOV JRXDBUF ,R] tACTURL

2265 011124 1 CMP RC,RI ';COMPARE'EXP VS. RCT

2266 011126 001401 BEQ pes

2267 011130 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR 3

2268 ; OVRRUN BITS...THEY BOTH SHOULD BE SET
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DIDUBC.PI1  21-MAY-7p 00:09 SEQ 20N
2269 011132 668 :
2270 (011132 10wCQ SCOPE
SS“$ ;:THéé TEET vEn{rvs uong gencru FLECT OF THE
? :RECEIVER SECTION 1T USES THE ERROR FLRAGS
2273 :$70 DETERMINE THRY IT WAS SELECTED CORRECTLY
276 E§E2NETH:SeVEN
EETZ ; ;CHAR: 177
: 3
2279 011134 012767 000027 167764 T1S5T23: fdv 823, TSTNO :SAYE THIS
2280 011142 012767 011362 167746 MOV sT5toq, NEXT GO TO THIS TEST WHEN THRU
2281 011150 0S2777 COON00 006372 8IS sMRESEY, 9TXCSR  ;MASTER RESET
2282 011156 0le77? 020000 006360 MOV 8SYNEXT . SPARCSR ;SET THE MODE
2283 011164 062777 000M00 006356 8IS SMRESET ) JTXCSR :MASTER RESET
5295 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MOOE
2286 011172 012777 0B4001 006350 MOV sMTORTA! CLK!MINT IBREAK,, aTXCSR
aassEE :SET MODE ,# OF BITS,PARITY SENSE,3LORD SYNC REG
2289 011200 012777 024000 006336 MoY $SYNEXT 1 SEVENNOPAR?! 0, SPRRCSR
2290 011206 052777 000020 006320 BIS 8SYNSCH RXCSR ;SET SEARCH SYNC
2291 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
203 011214 0M2777 020000 006326 BIC 8CLK, 9TXCSR -POKE CLK DOWN
2293 011222 0s2777 020000 006320 BIS #CLK  QTXCSR :POKE CLK UP
2294 011230 016703 006304 MOV RXDB(F , R3 :SET UP FOR ERROR MESSAGE
2295 011234 012700 000177 MOV 0177, R0 ;EXPECTED
22% 011240 012767 oooog; 167672 MOV 87, SHIFT .8 OF SHIFTS
2297 Dll2sb 012767 0001 167670 MOV 8177, TEMPL :DRTA CHAR
2298 011254 004767 005760 JSR PC, RPOKE :SHIFT IN THIS CHAR
2299 011260 105777 006250 TSTB  SRXCSR ;RXDONE
2300 011264 100401 BMI BY4S
2301 011266 1 HLT RXDONE SHOULD BE SET
2302 011270 BuS:
2303 011270 017701 00624M MOV JRXDBLF,R1 s ACTUAL
2304 Ol1274 020001 CMP RO,R1 ' ;COMPARE EXPECTED VS. RCTUAL
2305 011276 001401 BEQ 65¢
2306 011300 104002 HLT 2 -RECEIVED DATA DID NOT MATCH
2307 'EXPECTED DATA - CHECK MAINT DATA
2308 :OR RECEIVER LOGIC
2309 011302 BSS:
2310 011302 012767 000007 167630 MOV 87, SHIFT .8 OF SHIFTS
2311 011310 012767 000177 167626 MOV 8197, TEMPL :DATA CHAR
2312 011316 004767 005716 JSR PC, RPOKE :SHIFT IN THIS CHAR
2313 :NOW SHIFT IN A SELOND CHARACTER WITHOUT READING RXDBUF
2314 011322 012767 000007 167610 MOV 87, SHIFT -8 OF SHIFTS
2315 011330 012767 000177 167606 MOV 2127 TEMPL :DATA CHAR
2316 011336 004767 005676 JSR PC, RPOKE :SHIFT IN THIS CHAR
2317 011342 012700 140177 MOV #1400007177,R0 :EXPECTED DATR PLUS
2318 RXERR & OVRRUN
2319 01134 017701 006166 MOV SRXDBUF , R} :ACTURL
2320 011352 020001 CHP RO,RL ' ;COMPARE'EXP VS. ACT
2321 011354 00140} BEQ 11 5
2322 011356 104002 HLT 2 :SPECIFICALLY LOOK AT RXERR 8
2323 s OVRRUN BITS...THEY BOTH SHOULD BE SET
2324 011380 BES:




Cc0UBC

2325
232k
232?
2328
5329

330
233l
KX
€333
eIM
2335
3%
2337
2338
2339
340
234l
2342
2343
2344
2345
2346
2347

2248
2349

RRIELRE

unonunun
oo P o o

Pt Pns Pt Dot P & Pt Pt P08 Puih Pt Pt Prumh vt Pt Prmab [ = F ]
oL

OCOO0O0O000O0O00OOOO00O0 0o
Pt Pt Pt Pt Prn ot Pt P Pt s Pt ot ot Pt Pt

00 0000 0000 0000
#2 PRBY JTVE £kl &UR

Prout Pt Pt it Jst P Pt Pt s Pumnn Pt Pntt Jt Prumn
Pma pma Lol o ol o) P Pt Pt Pua =t Pt Pt P

ce0dB-C MRCYLL 27(1006)
21-MRY-76 C

011360 10440C

0.2767
012767

0sS
012777
0s277?

0127277

000C30
011610
00

000400

064001

000000
005532
006022

006016

000007
005470

005450
140000

005740

167536
167520
Q06144
006132
006130

O0blee

006110
006072

0C6100
006072

167444
167442

167402
167400

167362
167360

GO4

Ji-0lT-T6 08:1T PRGE 48
0:03

SCOPE

+ s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1 RECEIVER SSCTION,IT USES THE ERROR FLAGS

: 170 DETERPMINE THAt IT WAS SELECTED CORRECTLY
s+ (OVRRUN, RXERR)

: 1 MODE : SYREXT

+ s LENGTH: SEVEN

::CHAR: D
TSTe4: HAdv 824, TSTNO :SAVE THIS
MOV s75t25 NEXT -G0 TO THIS TEST WHEN THRU
BIS sMRESEY, 9TXCSR  ;MASTER RESET
MOV §SYNEXT, 3PARCSR :SET THE MODE
BIS $MRESET.QTXCSR ;MASTER RESET
:SET MRINT DATA, CLK,BREAK, SMAINTENANCE MODE
MOV sMTOATA! CLK ! MINT ' BREAK, aTXCSR
:GET MODE ,# OF BITS,PARITY SENSE,BLORD SYNC REG
Mot 8SYNEXT ! SEVEN'NOPAR' 0, JPARCSR
BIS 85YNSCH. 3RXCSR  ;SET SEARCH SYNC
:POKE CLK_TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK, JTXCSR :POKE CLK DOWN
BIS sCLK  9TXCSR :POKE CLK UP
MOV RXDBUF,R3 :SET UP FOR ERRCR MESSAGE
MOV 80,R0 ' ;EXPECTED
MOV 87 SHIFT -8 OF SHIFTS
MOV 0. TEMP] :DATA CHAR
JSR PC | RPOKE SHIFT IN THIS CHAR
TSTB  JRXCSR ;RXDONE »
eN] E4S
us HLT RXDONE SHOULD BE SET
MOV JRXDBUF , R} : RCTUAL
BEE Eg‘nx - COMPARE ' EXPECTED VS. ACTUAL
HLT 2 -RECEIVED DATA DID NOT MATCH
:EXPECTED DATR - CHECK MRINT DATA
ccs OR RECEIVER LOGIC
MOV $7,SHIFT .8 OF SHIFTS
MOV 80, TEMP! :DATA CHAR
JSR PC. RPOKE SHIFT IN THIS CHAR
NOW SHIFT IN A SELOND CHARACTER'WITHOUT READING RXDBUF
MOV 87, SHIFT -8 OF SHIFTS
MOV 80, TEMPI :DATA CHAR
JSR PC’ RPOKE :SHIFT IN THIS CHAR
MOV ¢140000'0,R0  ;EXPECTED DATR PLUS
'RXERR 8 OVRRUN
MOV JRXDBUF, R : ACTUAL
CMP RO,RI ' ;COMPARE'EXP VS. RCT
BEQ 664
HLT 2 :SPECIFICALLY LOOK AT RXERR &
o :OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE

SEQ 004S
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00S304
005574

005570

000010
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00Se4e
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167310
167272
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00SE44

005652
005644

167216
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167154
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167134
167132

8IS
;sPCKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC CLK

HO4

PAGE 49

SEQ 0046

+ s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
' 'RECEIVER SECTION,IT USES THE ERROR FLAGS
:270 DETERMINE THAY 1T WAS SELECTED CORRECTLY
: : (OVRRUN, RXERR)

s 1 MODE : SYREXT

st LENGTH: EIGHT

s ; CHAR: 125

fly 25, TSTNO :SAVE THIS

MOV 875126, NEXT GO TO THIS TEST WHEN THRU

BIS sMRESEY, 9TXCSR  ;MASTER RESET
MOV #SYNEXT,QPRRCSR :SET THE MODE
8IS SMRESET,@TXCSR :MASTER RESET

;SET HﬂlggvDRTR,CLK BREAK, SMAINTENANCE MODE

sHTOATAICLK ' MINT!BREAK, aTXCSR

;SET HOD% 8 OF BITS,PARITY SENSE,8LORD SYNC REG

oV sSYNEXTEIGHT 'NOPAR! D, SPRRCSR
8SYNSCH_ RXCSR  :SET SEARCH SYNC
$CLK, 8TXCSR + POKE DOWN
BIS 8CLK ITXCSR :POKE CLK UP
:GET UP FOR ERROR MESSAGE

MOV RXDBUF,R3

MOV 8125 R ExpeCTED

MOV 28, SHIFt :8 OF SHIFTS

MOV s125 TEMPI :DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR

TSTB  SRKCSR ;RXDONE *

BM] EYS

HLT RXDONE SHOULD BE SET

MOV JRXDBUF,R1 :ACTUAL

ggg 22;“1 - COMPARE 'EXPECTED VS. ACTUAL

HLT 2 +RECEIVED DATA DID NOT MATCH
:EXPECTED DATA - CHECK MAINT DATA
:OR RECEIVER LOGIC

MOV 48. ,SHIFT .4 OF SHIFTS

MOV 8125 TEMP! :DATA CHAR

JSR PC, RPOKE *SHIFT IN THIS CHAR

:NOW SHIFT IN R SELOND CHARACTER'WITHOUT READING RXDBUF

MOV 88. SHIFT 4 OF SHIFTS

MOV 8125  TEMPL :DATA CHAR

JSR PC . RPOKE :SHIFT IN THIS CHAR

MOV #1400007125,R0 ;EXPECTED DATR PLUS
*RXERR & OVRRUN
MOV aRXDBUF ,R1

$ ACTUAL
CMP  RO,RI ';COMPARE’EXP VS. ACT
BEQ 668 \
HT 2 ;SPECIFICALLY LOOK AT RXERR §

:OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE
;3 THIS TEST VERIFYS WORD LENGTH SELECT OF THE
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DZCUBC.P11 SEQ 0047
2437 - sRECEIVER SECTION,IT USES THE ERROR FLAGS
2438 :+T0 DETERMINE THAY 1T WAS SELECTED CORRECTLY
439 ; s COVRRUN, RXERR)
2440 + +MODE : SYNEXT
244} + s LENGTH: EIGHT
s::g ; ;CHRR: 252
S nm mme e e My SnEIG. ST s rest wen e
Sqqs 815852 8%5;97 868480 685470 B?s cnassst, TXCSR  ;MASTER REgET
2447 012060 012777 020000 005456 MOV €SYNEXT.PARCSR :SET THE MODE -
g::g 012066 052777 000400 0OOSYSH BIS SMRESET,JTXCSR ;MASTER RESET
2450 -SET MARINT DATR,CLK,BREAK, SMAINTENANCE MODE
s:gé 012074 012777 084001 DOS44S MOV sMTOATA! CLK!MINT ! BRERK, aTXCSR
2453 :SET MODE ,# OF BITS,PARITY SENSE,8LOAD SYNC REG
2484 012102 012777 026000 0OS43d4 Mo #SYNEXT!EIGHT 'NOPAR! 0, @PARCSR
2455 012110 052777 000020 0OS416 BIS 8SYNSCH. JRXCSR  :SET SEARCH SYNC
2456 POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2457 012116 042777 020000 00S424 BIC #CLK , STXCSR :POKE CLK DOWN
2458 Di2124 0s2777 (020000 005416 BIS #CLK STXCSR POKE CLK UP
2459 012132 016703 00SH02 MOV RXDBF ,R3 :SET UP FOR ERROR MESSAGE
2460 012136 012700 000252 MOV 8252, RO : EXPECTED
2461 012142 012767 000010 166770 MOV 88, SHIFt -8 OF SHIFTS
2462 012150 012767 000252 166766 MOV 8252 TEMP] :DATA CHAR
2463 012156 004767 005056 JSR PC . RPOKE !SHIFT IN THIS CHAR
2464 012162 105777 005346 TSTB  SRXCSR ;RXOONE *
2465 012166 100401 BMI BY4S
2466 012170 108000 HLT :RXDONE SHOULD BE SET
2467 012172 BYS:
2468 012172 017701 005342 MOV aRXDBUF ,R1 :ACTUAL
2469 012176 020001 CMP RO,R] ' ;COMPARE EXPECTED VS. RCTUAL
2470 012200 00140} BEG 13
2471 012202 104002 HLT 2 :RECEIVED DATA DID NOT MATCH
2472 ‘EXPECTED DATR - CHECK MRINY DATA
2473 :OR RECEIVER LOGIC
2474 012204 BSS:
2475 012204 012767 000010 166726 MOV 8, SHIFT .4 OF SHIFTS
2476 012212 012767 000252 166724 MOV 8252 TEMP] :DATA CHAR
2477 012220 004767 005014 ISR PC . RPOKE :SHIFT IN THIS CHAR
2478 :NOW SHIFT IN A SECOND CHARACTER'WITHOUT RERDING RXDBUF
2479 012224 012767 000010 166706 MOV 8.  SHIFT .4 OF SHIFTS
2480 012232 012767 000252 166704 MOV 8252 TEMPI :DATA CHAR
2481 012240 004767 004774 JSR PC . RPOKE :SHIFT IN THIS CHAR
2482 0lg244 012700 140252 MOV #140000'252,R0 ;EXPECTED DATA PLUS .
2483 :RXERR & OVRRUN
2484 012250 017701 00526M MOV JRXDBUF, Rl s ACTUAL
24685 012254 020001 CMP RO,R1 ' ;COMPARE’EXP VS. ACT
2486 012266 001401 BEQ 86$
2487 012260 104002 HLT 2 -SPECIFICALLY LOOK AT RXERR 3
2488 s OVRRUN BITS...THEY BOTH SHOULD BE SET
2489 012262 66S:
2490 012262 104400 SCOPE
2491 - THIS TEST VERIFYS WORD LENGTH SELECT OF THE

2492 ; ;RECEIVER SECTION,IT USES THE ERROR FLRGS
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000033
01251e
Q00
0200
000400

064001
026000
000020

020000
020000
00S154
000377
000010
000377

004630
005120

0OS114

000010
000377
004566

000010
000377
004546
140377

005036

166634
166616
80524
0523
005226

005220

005206
005170

00S176
00s170

166542
166540

166500
166476

1664E0
166456

:;T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
= + (OVRRUN, RXERR)

s MODE : SYNEXT

s ;LENGTH:EIGHT

; s CHRR: 377

15127  fby 827, TSTNO :SAVE THIS
MOV 875128, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, 3TXCSR  ;MASTER RESET
MOV 8SYNEXT,QPARCSR :SET THE MODE
BIS SMRESET,3TXCSR :MASTER RESET

:SET MAINT DATA, CLK,BREAK, SMAINTENANCE MODE
MOV sMTDATA!CLK!MINT 'BRERK, 9TXCSR

:SET MODE ,# OF BITS,PARITY SENSE,8LOAD SYi{C REG
MOV 8SYNEXT'EIGHT 'NOPAR! 0, JPARCSR
BIS 8SYNSCH, 3RXCSR  ;SET SEARCH SYNC
:POKE CLK 70 GET LOGIC INTO SYNCRONIZATION
BIC 8CLK, JTXCSR POKE CLK DOWN
BIS 8CLK JTXCSR :POKE CLK U

P
MOV RXDB{F . R3 :SET UP FOR ERROR MESSAGE
MOV 8377 RO ;EXPECTED
MOV s8. SHIF} -4 OF SHIFTS
MOV 8377 TEMP!L :DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR
TSTB  RXCSR ;RXDONE *
BMI 64§
ug HLT -RXDONE SHOULD BE SET
MOV SRXDBUF ,RI : ACTUAL
ggz Egsﬂl : COMPRRE ' EXPECTED VS. ACTUAL
HLT 2 RECEIVED DATA DID NOT MATCH
+EXPECTED DATA - CHECK MAINT DATA
ccs :OR RECEIVER LOGIC
MOV #8. ,SHIFT : 4 OF SHIFTS
MOV 8377, TEMPL :DATA CHAR
JSR PC, RPOKE SHIFT IN THIS CHAR
NOW SHIFT IN A SECOND CHARACTER'WITHOUT READING RXDBUF
MOV $8. . SHIFT .4 OF SHIFTS
MOV 8377 TENP1 :DATA_CHAR
JSR PC, RPOKE SHIFT IN THIS CHAR
MOV #140000!377,R0 ;EXPECTED DATA PLUS
RXERR & OVRRUN
MOV JRXDBUF ,R1 sACTJAL
ggg gg*nx -COMPARE 'EXP VS. ACT
HLT 2 :SPECIFICALLY LOOK AT RXERR &
o :OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE
: «THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s 'RECEIVER SECTION,IT USES THE ERROR FLAGS

;270 DETERMINE THAT IT WAS SELECTED CORRECTLY

SEQ 0048
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2549
2550
2551

52
2553
2554 012512 (012767
2555 012820 012767
2556 (012626 052777
2557 0125 012777
2558 01542 050777
2559
2560
2561 012550 012777
2562
2563

2564 012556 012777
2565 012564 052777

2567 012572 042777
2568 012600 052777
2569 012606 016703
€570 0lesle 012700
2571 0l26le 012767
gs72 012624 O0127¢7
| 2573 012632 004767

2574 012636 105777
2575 012642 100401
2576 012644 104000
cS77 0lgb4b
2578 01264 017701
| 2579 012652 020001
2580 012654 001401
2581 012656 104002
2582
2583
. 2584 012660

; 2583 012700 012767
2530 012706 012767
2591 012714 004767
2592 012720 012700

2594 012724 017701
« 25895 012730 020001
259% 0ie732 001401
25 012734 104002

2600 012736 104400

KO4
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00:00

000034
012740
000400

064001

026000
000020

020000
020000
004726
000000
000010
000000
004402
004672

004666

000010

166406
166370
005014
005002
005000

004772

004760
004742

004750
004742

166314
166312

166252
166250

166232
166230

s (OVRRUN, RXERR)
,,nooe : SYNEXT
: LENGTH: EIGHT

: CHAR: 0

15T28: by 828, TSTNO :SAVE THIS
MOV 8. EOPTNEXT .60 TO THIS TEST WHEN THRU
BIS $MRESET, @TXCSR  ;MASTER RESET
MOV #SYNEXT, @PARCSR ;SET THE MODE
BIS SMRESET QTXCSR :MASTER RESET

:SET MAINT DATA, CLK,BREAK,SMAINTENANCE MODE
MOV sMTORTA!CLK'MINTfBREAK, 8TXCSR

:SET MCDE , % OF BITS,PARITY SENSE sLono SYNC REG
MOY $SYNEXT!EIGHTYNOPAR!0, JPARCSR
BIS 85YNSCH. 3RXCSR  :SET QEQRCH SYNC
: POKE CLEIEO GET LOGIC INTO SYNCRONIZATION

$CLK, JTXCSR + POKE CLK Doun
BIS sCLK’ 9TXCSR *POKE CLK U
MOV RXDBUF R3 :SET UP ron ERROR MESSAGE
MOV uo RO XPECTED
MOV r? -4 OF SHIFTS
MOV uo ?Enpl :DATA CHAR
JSR PC ' RPOKE :SHIFT IN THIS CHAR
TSTB  @RXCSR ;RXDONE *
BMI B4S
s HLT RXOONE SHOULD BE SET
MOV aRXDBUF , Rl : ACTUA
ggg ggtnx - COMPARE’ EXPECTED VS. ACTUAL
HLT 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATR - CHECK MRINT DATAR
ccs :0R RECEIVER LOGIC
MOV #8. ,SHIFT .8 OF SHIFTS
MOV oo fEﬂPl :DATA CHAR
JSR POKE :SHIFT IN THIS CHAR
:NOW SHIFT IN A sebono CHARACTER’ WITHOUT READING RXDBUF
MOV 28. SHIFT -8 OF SHIFTS
MOV 20, YEMPL :DATA CHAR
JSR PC. RPOKE ‘SHIFT IN THIS CHAR
MOV £140000'0,R0  ;EXPECTED DATR PLUS
mmn&wmw
MOV JRXDBUF ,R1 CTUAL
CHP RO,RI conpnne EXP vS. ACT
BEQ 66$
HLT 2 :SPECIFICALLY LOOK AT RXERR &
o :OVRRUN BITS...THEY BOTH SHOULD BE SET

SCOPE

SEQ 0049
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DZDUBC.P1!  21-MAY-76 00:09 SEQ 00S0
2601
2602 :END OF PRSS
2603 :TYPE NAME OF TEST
2604 :UPDRTE PASS COUNT
2605 s CHECK FOR EXIT TO ACT-11
Sggg :RESTART TEST
2608 012740 104402 JECP:  TYPE :TYPE NAME OF TEST
2608 012742 016102 MEPASS
2610 012744 104410 013176 CONVRT , OUTCRY
2611 012750 104402 015623 TYPE DEVICE
2612 012784 105767 le6eo2 T1STE  MULTD sARE YOU RUNNING MULTIPLE DEVICES ?
2613 012760 00i511 BEQ cCe sN0, JUMP AROUND
2614 012762 005767 166230 53 ACTREG :ARE ANY DEVICES RCTIVE °
2615 012766 001007 BNE RUNIT :YES
2616 012770 104402 015635 TYPE MCOM *NO
2617 012774 016700 166216 MOV ACTREG, RO :DISPLAY ACTREG
2618 013000 000COO HALT SELECT SOMETHING TO RUN @ ACTREG:
2619 -SELECT SWITCHES & HIT CONTINUE !PUT SWOD ={)
2620 013002 000167 166252 Ivp .START :GTART OVER AGAIN...... YOU DESELECTED EVERYTHING
2621 D12006 062767 000010 166170 RUNIT: RDD 810, BRSEADD *NEXT BLOCK (RDDRESSES)
2622 013014 062767 000010 166170 ZERC:  ADD £10BRSEIV *NEXT BLOCK (VECTORS)
2623 013022 00G2w! CLC
2624 013024 006167 168170 ROL ROTADD :UP DATE ROTATING POINTER
2625 013030 1034:0 BCS 11 :1S 1T THE LAST DEVICE
2626 70 BE TESTED IN THIS PRSS ?
2627 013032 036767 166162 1661SE BIT ROTADD, ACTREG sTEST THIS PEVICE FOR ACTIVE STATUS
2628 013040 001762 BEQ RUNIT : IF NOT AUTIVE, TRY NEXT ADORESS
2629 013042 004767 000034 JSR PC.REPLAY ' CALCULATE NEW PARAMETERS
2630 013046 000167 000174 THP RESTRT YES IT WAS ACTIVE,TEST THIS DEVICE
2631 013052 012767 00000! 166140 28: MOV %1,ROTADD :0K',NOW SET UP ROTATING
2632 :POINTER FOR NEXT MULTIPLE PASS
2633 Di3060 016767 166122 166116 MOV KEEPADD, BASEADD *RESTORE BASE ADDRESS
2634 013066 016767 166122 166116 MOV KEEPIV, BRSEIV *RESTORE BASE INTERRUPT VECTORS
2635 013074 004767 000002 JSR PC,REPLAY :CALC NEW PARAMETERS
236 013100 000441 BR cct s JUMP AROUND REPLAY
2637 013102 016767 166076 004126 REPLAY: MOV BASEADD, DUBASE :GET UP FOR NEW ADDRESSES
2638 013110 004767 003770 JSR PC, DURDOR : CREATE NEW ADDRESSES
2639 013114 016767 166072 004436 MOV BAREEIV, DURIY : CRERTE DURIV
2640 013122 0%2767 000002 166062 ADD 82, BASEIV
2641 01313C 016767 166056 004424 MOV BRSEIV.DURIS : CREATE DURIS
2642 013136 062767 000002 166046 ADD 82, BASEIV
2643 012144 D16767 165042 004412 MOV BASEIV.DUTIV - CREATE DUTIV
o644 013152 062767 00002 166032 ADD 82 BASEIV
2645 013160 016767 166026 004400 MOV BRSEIV,DUTIS :CREATE DUTIS
2646 013166 016767 004366 166016 MOV DURIV,BASEIV ' RESTORE
ggzg 0i3174 000207 RTS PC
2643 013176 000001 OUTCRY: 1
2650 013200 006 002 .BYTE 6,2
5225 013202 017534 RXCSR
2653 013204 ccC:
284 (013204 005067 165724 CLR LSTERR :CLEAR LAST ERROR PC
o¢Ss 013210 005067 166010 CLR ERRFLG :CLEAR ERROR FLAG
2656 013214 005267 165710 INC PRASCNT :UPDATE PQSS COUNT




CDUB-C MRCYL! 27(1006)
21-MRY-76 00:00

DZCUBC.P11
2857 013220
2658 013226
2659 013232
3660 013234
2661 013236
2662 013240
2663 013242
2664 013244
2665 013246
2666 013254
2667 013256
c668 013264
2669
267
2671
2672 013270
2673
2674 013270
2675
2676 0132
2677 013876
2678 013304
2679 013310
2680 013314
2681 013316
2682 012320
2683 013324
2684 013326
2685 013334
2686 01340
2687 013342
2683 Q132
2689 0i33W
2690 013352
2691 013354
2632 013356
2693 013362
2634 013364
2695 013370
26% 013372
2697 013400
2698 013402
2699 013406
2700 DIM4IY
2701 013416
2702 013422
2703 013426
2704 013434
2705 013442
2706 013446
2707 013450
2708 013452
2709
2710
2711
2712 013454

016777
013701

300240
000240
012767
104413
012767
000167

000424
013746
012737
005737
012637
000404
02eb2b
012637
000403
016767
016716
000002
104413
032777
001407
000432
105777
100027
017700

001407
000432

104413

1-0CT-76 09:17

165704
000042

000340

002350
167060

000004
013316
177060
000004

000004

165564
165554

o4000¢e

165522
165516
004000

165516
165512

165602
165476
000005S
165456
165446

165654

164522
165630

0000CH

165560

165526

165500

165506

165466
165452

PAGE S4

LOGICAL:

RESTRT:

.SCOPE:
SRREE SngT OF coge FOR THE X OR TESTER #%xxxx

18:

c%:
33:

4g:

TTST:

18:

2%:

33:

BRUW:
BRX:

MO4Y

PASCNT, SLIGHTS
3842, Rl
RESTRT

JSR  PC,(RI)

8340, PS
#TST1,RTRN
TST1

SEG 00S!

; DISPLRY PRSS COUNT
sCHECK FOR ACT-11 QR DDP
tJF NOT, CONTINUE TESTING

;PREVENT INTERRUPTS (PRIO: 7)
sCHECK FOR 1G

; SCOPE LOOP AND INTERATION HANDLER

MOV a4, -(SP)
MOV 815 a8

ST 8177060
MOV (SP)+, 384
BR 28

CMP (SP)+, (SP)+
MOV (SP)+, Ja4
BR 3s

MOV NEXT,RTRN
ggg RTRN' (SP)

- %%%% END OF CODE FOR THE X OR
CKSUR

BIT #SW1Y, ASWR
BEQ 18

BR 38

TSTB  JTKCSR

BPL 33

MOV 3TKDBR, RO
BR 2%

BIT #5011, dSWR
BNE 23

INC LPCNT

CMP LPCNT, ICOUNT
BLOS 3%

CLRB  ERRFLG

CLR LPCNT

MOV 85, 1COUNT
MOV NEXT,RTRN
MOV RTRN, (SP)
RTI

1407

432

; CHECK FOR FREEZE ON CURRENT DATA

.SCOP1: CKSWR

; IF_RUNNING ON THE X UR TESTER CHANGE
s THIS INSTRUCTION TO ¢ “NOP" (NOP=240)
:SAVE CONTENTS OF ERROR VECTOR
:SET_FOR_TIME OUT

:TIME OUT ON X OR ?

s RESTORE ERROR VECTOR

:G0_TO NEXT TEST

:CLEAR THE STACK RFTER R TIMEOUT
sRESTORE ERROR VECTO

sLOOP ON PRESENT TEST

sSET UP NEXT TEST IN RTRN

:SET UP STACK FOR RTI

TESTER saxx®x

;CHECK FOR 1G
LOOP ON CJRRENT TEST ?

; TEST TTY FLAG

;CLR DONE BIT
:IF A TTY KEY IS STRUCK GO TO NEXT TST
: INHIBIT ITERATIONS ?

;CHECK FOR ITERATION CNT FINISH

;SET UP ITERRTION COUNT
sSET UP NEXT TEST IN RTRN
:SET UP STACK FOR RTI

;RESTORE "BEQ_13" INSTRUCTION

tRESTORE “BR 33" INSTRUCTION

;CHECK FOR G




DZ0UB-C MACYL1l 27(16J6)
21-MAY-76 00:00

CZDUBC.PL!

5713 13455
714 0l34e4
2715 013466
2716 013472

2720 013474
272l (013476
= e
£253 BiRi3
2725 013514
27eb 013520
2727 013522
c7e8 013526
2729 013530
2730 013532

2732
2733
2734 013534
2735 013536
2736 013540
2737 013546
2738 013554
€739 013556
2740 013560
c741 013564
2742 013570
2743 013574
2744 013576
2745 013602
c746 013606
2747 013612
2748 3614
2749 3620
2759 3622
2751 3626
2752 3630
2753 3636
2754 3642
2755 3644
275 3646
3650
2758
2759 3654

31-0CT-76 09:17 PRGE 85

8827?? 001000 165414
1402

016716
000002

010546
017605
OBE;BB
Ba0E
105777
1002375
112577
000770
012605
000002

010346
010446
01767

104402
00c727
012604
012603
000002

165426

000002
000002
165370
165364

000004
000002

015670
000007
165310
165304
000200
000025
016012
000015

165252
165246

015150
016012

co0002

000010
000004

165254

13:

TYPE:

13:
23:

3%:

.INSTR:

.INSTL:
.MSG:

1%:

c00s:

c3:

. INSTE:
. INSTG:

4009%:
INSTR2:

BiT ¥SKOS, ASKR
BEQ 13

MGV LOCK, (SP)
RTI

s TELETYPE OUTPUT ROUTINE
MOV RS, - (SP)
MOV 22lsP), RS
ADD 82, 2(5P)
TETB (RS)

BEQ 33

TSTB  JTPCSR

BPL 2%

MOVB  (RS)+,2TPDBR
BR 18

MOV (SP)+,R5
RTI .

ASCII STRING INPUT ROUTINE
MOV R3,-(SP)
MOV RY.-(SP)
MOV a4tsp), .MsG
ADD 82,4(5P)
BYPE

MOV $INBUF, R4
MOV %7 .R3

TSTB  @TKCSR

BPL 13

MOVB  3TKDBR, (R4}
BICE  #200, (RY,
CMPB  (RY), #25
BNE 2008
TYPE , MCRLF

BR .INST}

CMPB (R4)+_ %15
BEG INSTR2

MOVB  QTKDBR,aTPDBR
TSTB  QTPCSR

BPL 28

DEC R3

BNE 18

BR .INSTG

MOV R3,-(SP)
MOV R4, -(SP)
TYPE

MGM

15T J4ROSW

BEQ 400$

TYPE, MCRLF

BR .INSTL

MOV (SP)+,RY4
MOV (SP)+.R3
RTI

NO4Y

;LOOK FOR "0"
; TEST DONE BIT
; TYPE_CHAR

tD0 IT AGAIN UNTIL "0" IS SEEN

;IS IT

SEQ 00S2




r
CIJB-0 WYL 2
D:DU& .PII [ <

2693
g-ce 0I1370M
g3 013706
K 013?10
3 bk
a/ cf 0137
2778 [01373C
&7 LIITN
£ 80 DBI13I™0
g8l 0l13™W
2°82 013746
2783 813752
2784 0137%6
2785 013760
286 013784
2787 013766
288 013772
2789 0127M
2790 014000
€79: 014002
¢ 2292 014008
2793 014010
27 014012
| 2735 014014
279% 014016
2797 014020
2798 014024
2799 014026
¢ 2800 01403
2801 0i4034
2802 01403
2803
., 2804
280S
2806 014040
2807 Ol404%
b 2808 014046
280% 014052
coll CI4I54
2811 01+060
28l
2813
2t o
5816 Dluoce
c81? 014073
2818 QI407M
819 014100
2e20 014185
2821 0Qly]
2622 014108
oge3 014110
eged  0l41l2

88888
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O -0 0000

~eg
R
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EE
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s
L
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2
J

A
-
b
-t
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e
2UREERS

o
[ =)
&
-3

uno

:

000C!:S
0iE1S0

000036
000C36

000017

. '-76

BOS

£3:1° Frat SE
:CONVERT ASCII STRING TO OCTAL
.PARAM: MOV RS, -(SP)
MOV R4’ -(SP)
MOV 4(5P) RS
MoV (RE)+,LOLIN
MOV (RS)+ HILIM
MV r35)+,DEVADR
MOVB  'R5)+,LCBITS
MOVB  (R5)+ ADRCNT
MOV PS.4(4P)
PARAM1: CLR RS
MOV 8INBUF,RY
CHPB 81 (R4
BEQ PARRERR
18: CMPB (R4, 860
BLY PRRERR
CMPR (RY), 867
1 PARERR
BICB  #B80, (R¥)
BISB (R4}+ RS -
CMPB 815, (RY)
BEQ Lintts
RSL RS
RSL RS
&%
PARERR : gnzs :ég‘(Rq) -1S FIRST CHARACTER A (CR)
15T asROSW .15 CKSWR ROUTINE BEING USED
BNE PARTI
1208: INSTER
BR PARA* |
-TEST T0 SEE IF NUMBER IS WITHIN LIMITS
LIMITS: CMP RS, HILIN
BM] PRRERR
CMP RS, LOLIM
BLO PARERR
BITB  LOBITS,RS
PRARERR
:STORE NUMBER AT SPECIFIED ADDRESS
MOV DEVADR, RY
18: MOV RS, (R4}+
ROD 82.RS
DECB  ADACNT
BNE 18
PARTI: MOV (SP)+,RY
MOV {SP)+.RS
RT]
LOLIM: O
HILIM: O

St

- ~res

? o




r-- — ————— - — -

CO5

coeoBoe MACYLL 7110060 J1-00T-T6 09:1T7 PAGE ST

OSDUBC.PLl  2l1-MAY-T& 00:09 €EL 0S4
2625 (QI8114  DOOD0D PEVADR: 0
2826 014116 000020 LCBITS: O
2837 CIN117 ADRCNT=L0BITS+1
2823 :SAVE PC OF TEST THAT FAILED AND RO-RS
gggé 014120 J16b67 000004 165046 .SAVDS: MOV 4(SP), SAVPC
2833 : SRVE RO-RS
2835 0l4126 010567 165036 Sv0S: MOV RS, SAVRS
283% 014132 010467 165030 MOV R4, SRVRY
2837 01413 010367 165022 MOV R3,SAVR3
2638 014142 010267 165014 MOV R2, SAVR2
2839 01414 010167 165006 MOV RI.SAVRI
2840 014152 010067 1635000 MOV RC. SAVRD
aag:é 014156 000002 RTI
2843 RESTORE RO-RS
eswsE 014160 016700 164772 .RESCS: MOV SAVRO,RO
2846 DI416M 016701 164770 MOV SAVRI Rl
| 2847 OI4I70 0le702 16Y7BE MOV SAVR2.R2
2848 OINI79 016703 16476M MOV SAVR3.R3
. 2849 0I4200 01670M 164762 MOV SAVRY . R4
2850 Ol420M 016705 164760 MOV SAVRS RS
| 2851 Ol4210 DO000G2 RTI
atasaE oS :CONVERT OCTAL NUMBER TO ARSCII AND OUTPUT TO TELEPRINTER
2855 OIN212 104402 .CONVR: TYPE
. 2955 BDiygis Oiboic MCRLF
2857 0l421p 010046 .CNVRT: MOV RO, -(SP)
2658 014220 gxows MOV R, -(EP)
2859 Dl4222 010346 MOV R3.-(5P)
2060 014224 010446 MOV R4, -(5P)
2861 014226 010546 MOV RS -(5P)
2862 014230 017601 000012 MOV al2(SP), Rl
2863 0142M 016767 002470 164706 MOV TEMP, TEMF3
29E4 DOl4a42 06e7b6 000002 (00012 ROD 82, 12(SP)
2865 014260 012167 0O00ISH MOV (R1)+, WRDCNT
2066 O0J4264 112167 006152 18: MOVB  (R1)+.CHRCNT
2867 014260 112167 0DOOL47 MOVB  (R1)+ SPACNT
2968 Ol4ceM 013167 00014M MOV 3(R1)$ BINWRD
2869 014270 016704 000140 28: MOV BINWRD . RY
2970 Dl4274 116705 000132 MOVB  CHRCNT.RS
2871 0i8300 012700 016730 MOV $TEMP, RO
2872 014304 010403 3$: MOV R4, R3
2873 014306 042703 177770 BIC 8177770,R3
2874 014312 062703 000060 ADD 8080,R3
2875 014316 110320 MOVB  R3, (RD)+
%2’79 14 006204 ASR R4 :SHIFT FIOR NEXT #
14 042704 100000 BIC 8100000, R4 :CLUGE TO STOP BIT 15 PROPRGATING.
2878 014326 006204 ASR RY :DITTO
2879 014330 006204 ASR RY :DITTO
2880 014332 00530S DEC RS




C0uB-C MRV

O0uB
2881

3

2885
2887

EEERRERLE
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014342
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el
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=8 “g“e
SN

104404
000755

o
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vgm-ug
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oo

Ji=0T7-Te £3:17 PRGE

£0:22

01677
0020&e
0000SS

00CON0
000043

000024
164536

000020
000116

000131
\77777

000002
000aae

177001
00l226
00C000

002314

4§:

BS:

WRDCNT:
CNT

DOS

g8

BNE 3$

MOV B¥CATA. R3
MOVB  -(RO),(R3)+
DECB  CHRCNY

BNE

y§
1578 SPACNT

8EQ 6$

MOVB 8040, (R3)+
CECB  SPRCAT

Bt G§

CLRB  (RY)

TYPE

MDATA

DEC WRDCNT

BNE 3

)
MOV TEMP3, TEMP
MOV (SP)+ RS
MOV (SP)+ RY
MOV (SP)+,R3
MOV (SP)+ R}
MOV (5P)+,RO

0

CHRCNT: D
SPACNT=CHRCNT+!
BINWRD: O

.SETFLG:

es:
38:

. TRPSR:

TRPOK ¢

;COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
;BUFFER TO THE CHARRCTERS “N™ AND “Y*,

; IF THE CHARACTER IS "N™ CLEAR THE FLAG

;1IF THE CHARACTER IS "™ SET THE FLAG

MOV 3(SP) RS
CMPB 8N, IfBLF (IS IT *N= 2

BNE 18

CLRB  (RS) - 000

BR 2§ )

CMPB  8'Y, INBUF 15 IT *y= ?
BNE 38

MOVB  8-1 .RS) :377

RDD 82, {SP)

RTI

INSTER :RETRY

BR .SETFLG

- TRAP DISPATCH SERVICE

! ARGUMENT OF TRAP 1S EXTRACTED

‘AND USED RS OFFSET TO OBTAIN POINTER
:T0 SELECTED SUBROUTINE

MOV (SP), -(SP) ;GET PC OF RETURN

SUB 82, (4P) :=PC OF TRAP
MOV 3(5P7, (SP) :GET_TRP
ASL (SP) MULTIPLY TRAP ARG BY 2

; CLEAR UNWANTED BITS
;POINTER TO SUBROUTINE RDDRESS
; SUBROUTINE RDDRESS

BIC 8177001, (SP)
ADD ¢. TRPTAB, (SP)
MOV (5P}, (SP)

U]

oces




goouBl
2337

EOS

CoDUB-C MACYI! 27110260 2i-00T-T6 09:17 FRGE 59
P11 2l-%Av-re 00:00
014534 020136 IMP J(SP)+
:ERROR HANDLER
0I4S3% 104413 CKSWR
014540 (32777 020000 164332 BIT 85K13, 3SWR
014S46 901061 ONE HALTS
DI4550 021667 164360 cHP (SP),LSTERR
Dl Dliees 1su3se Bo  13P),LSTERR
013222 105067 164436 CLRB  ERRFLG
014566 109406 1S: SAVOS
014570 01i60S MOV (SP) RS
014572 162705 000002 SUB 82, RS
014576 011504 MOV (RE), R4
014600 006304 ASL RY
aiqsue 061504 200 535),94
Bleee D5 177001 BTt B177001.RY
Dlvele 062704 G17504 ROD 8.ERRTAS, RY
014616 012467 00OQMO0 MOV ‘RY)+, ERRMSG
81 12467 000046 MOV (R4)+ DATAHD
i 11467 0000SH MOV (R4), DATABP
014632 10S7E? 164366 1578 ERRFLG
014636 001403 BEQ TYPMSG
0i4640 005767 0000M2 15T DATABP
014644 001014 BNE TYPDAT
01464 10N410 TYPMSG: CONVRT
819522 01 ERTARO
146 115589 177777 164344 MOVE  #-1,ERRFLG
014660 104402 TYPE
Di4662 000000 ERRMSG: 0
0i4bbM 065767 000004 157 DATAHD
014670 001402 BEG TYPDAT
0i4672 104402 TYPE
014674 000000 DATAHD: 0
014676 005767 000004 TYPDAT: TST DATABF
014702 001402 8EQ RESREG
014 104410 CONVRT
014706 000000 DATABP: O
CIN710 104407 RESREG: RESOS
0i4712 005777 164162 HALTS: TST ASWR
014716 10000S BPL EXITER
014720 01004 PUSHRD
014722 016600 000002 MOV 2(SP),RD
s B o
8{3;34 16“"17 4172 EXITER: cgsun ERRCNT
14740 383?97 680400 164122 éx 85108, JSKR
014746 001007 BNE 18
014750 032777 002060 164122 BIT 85K10, ISWR
014756 001407 BEQ 28
014760 016767 164132 164126 MOV NEXT,RTRN
0l47eb 012706 001100 18: MOV 8STALK, SP
014772 000177 164116 IMP JRTAN

;30 TO SUBROUTINE

;CHECK FOR 1G
; AINHIBIT ERROR TYPE CUT ?

;CHECK FOR G
;LOOP ON ERROR ?
;ESCAPE TO NEXT ON ERROR ?

:SET UP FOR_NEXT TEST
'REINITIALIZE SP

SEQ 00¢<6
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ununirininuiniiininn

3031

Pl

014776
G15000
015002
015004

B

268
£MNoO

SERERTREE

FESRONUNNEEE28

J1-0CT-76 09:17

21-MAy-76 00:03

000902
030001

001174

0C2

162776
164140

015044 162764

le4lee

162732
162676

000042
000176 183712

28:
ERTABO:

PFARIL:

18:

RESTAR:

18:

PFTRB:

.CKSKR:

FOS

PRGE &0

?fl

.BYTE 6,2

SAVPC

-ENTER HERE ON POWER FAILURE

MOV RO, -(5P) :CAVE RO-RS ON PROCESSCR STACK
MOV RL,-(SP)

MOV Re,-(SP)

MOV R3,-(SP)

MOV R4, -(SP)

MOV RS, -(5P)

MOV 24, -(SP)

MOV SP, SRVSP :SAVE STACK POINTER

MOV sRESTART, 24 :SET UP FOR POWER LP TRAP

SSLT s sHALT ON POWER DOWN NORMAL

; PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED

MOV SAVSP, SP RESTORE STACK POINTER
MOV (SP3+.RS :RESTORE RO-RS
MOV (5P)+.RY

MOV (SP)+.R3

MOV (SP)+,Re

MOV (5P)+ RI

MOV (5P)+ RO

MOV §.PFRIL, 24 ;SET UP FOR POMER FAILURE
MOV 8340, PS

MOV 3S1AlK, SP

CLR TEMP

INC TEMP

BNE 15

CONVRT

PFTAB

TYPE

MPFAIL

CLR ERRFLG

CLR LSTERR

{np SRTRN

.BYTE ,2

RTRN

;CHECK SWITCH REGISTER ROUTINE. CHECKS FOR tG TO ALLOW CHANGING
;OF LOC.176

:LOCATIONS Dszo:O

ROSW:  .WORD

ST n42

BNE ouT

CMP $SWREG, SWR +SOFTWARE SWITCH REGISTER PRESENT
BNE ouT :NO, GET OUT

SEG 00S7




BebiRct

3049

35}
322

3054
30SS

A

305°

2

3061

EREE

3064
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MCY1l

Pl

015246
15250

AEath RESRECNNSAENG

:

1058777
409923
Pa87E7

001021
104402

i
1044
104411
104403
104405

163710
163704

26887

015300

Q4ese2

s
i

047440
0000SS
052123
041511
042503

.CNTLU:

.BYTE
ouT:

SWREGC:

.BYTE

CNTG:
SMSUR:

SMNEM:

.EVEN
MTITLE:

MVECTO:

MREGAD:

MMULT:

MLASTD:

GOS

SATSA0%) (RicRCT-76 09:17 PAGE b1

1578 QTKCSR
BPL g*T
MOV KDBR, .MSG

I 8177600, .MSG
EHSB a* .nse

BNE out

TYPE, SCNTG

COM J8RDSW

TYPE, SMSWR

CNVRY, SWREGC

IFSTR, SMNEW

PARAM

9
177777
SKREG

0,!
TYPE, MCRLF
CLR S8RDSK
RTI

)

6.2

SWREG

LRSCIZ (1S 12> 746/
.RSCIZ «15>(12>/SWR= /

.RSCIZ /7 NEU= /

;:ga‘unxr FOR
RERSY, GET CHARACTER
AN StRIP OFF

: THE GARBAGE

21S IT A <tG

.ASCIZ «15«12>¢12>/DUll DZDUB-C TRPE B /<15 ¢12)

LASCIZ «15>¢12>/VECTOR RDDRESS-/

LRSCIZ «15><12>/1ST DEVICE: RECEIVER CONTROL REGISTER ARDDRESS-/

.RSCIZ «15)¢12>/ARE YOU RUNNING MULTIPLE DEVICES ? (Y OR N)-/

.ASCIZ <«15)¢12>/LAST DEVICE:RECEIVER CONTROL REGISTER RDDRESS-~/

SEG 00S8
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D<OUBC.PlLL

015564
015572
015600

R

Rt 8ooNrnh Ton—-o38IR
EER AR

3l

3!

31 Ci

3l 0l

3l 0l

k) 01

3l 1)

3l 0l

3i 0!

31 01

al 01

31 Di

3l 01

3l 01

3l 0l

2 e
3123 015755
3124 015732
3125 015740
3126 015746
3127 015754
3128 015762
3129 015770
3130 015776
3131 D16004
3132 016006
3133 016012
3134 016015
313X 016022
3136 016030
3137 016036
3138 016044
3139 016052
3140 016060
3i141 016066
3l42 016074
Ji43 0lbi02
3184 016110
3145 (016116
3l46 0lbleM
3147 016127
3148 016133
3149 016140
3150 016146
3151 016154
3152 01iblke
3153 016170
3154 016176
3155 0i6eDM
3156 016211
3157 016216
3158 0lbee4
3169 016232
3160 016236

. e m—— e e -

0S3lll
047117
051040
Q42524
0S110M

SEaegeaays
SRR

g8 _Z
R nd

B3R 0ge
CalnEzE)

31-0CT-76 09:17 PRAGE 62
21-MRY-76 00:00

0S2g0le

PRRARLE
AREIRREE
Ui

047511

RET
252

041440
Q46117
051811
042101
026523

Q44526

000
053517
041040

041505
042515
020107
047125
gsliad

043117

DEVICE:

MCOW:

MRANGE :

MQM:
CRLF:

MPFRIL:

MEPRSS:

MR:
MTSTPC:

MLOCK:

MLEVEL:

MSYNC:

.RSCIZ
.ASCIZ

.RSCI2

.RSCIZ
.RSCIZ
.RSCIZ

.RSCIZ

.RSC12
.RSCIZ

.RSCIZ

.RSCI2

.RSCI2

HOS

/=DEVICE ~
<15>¢12)>/HOW NOW BROWN COW? ...SELECT SOMETHING TO RUN JACTREG/

«15>¢12>70UT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-/

/7 %
(1S <1
/ POWER FRILURE, PROGRAM RESTART AT TEST IN PROGRESS/

<15><12>/END OF PRSS TAPE B/

(1S>¢12>/R/
C15>¢12>/TEST PC-/

¢15><12>/L0CK ON SELECTED TEST? (Y OR N)-/

<15>¢12>/0U PRIORITY LEVEL-/

(15>¢12>/8 OF SYNC CHRRS SELECTED ( 1 OR 2)-~

SEQ 0059




C<OUB-C MACYIL 27(1006) J1-0CT-76 09:17 PAGE &3
0ZDUBC.P1I 21-MAY-76 00:00 SEQ 0Ce0

OSI1440 047131 020103
020123
042523 042514 052103
030440
Q47440 020122 024462
0000SS

g&&g?g MWIREB: .RSCIZ <1S>¢12>/1S SEC XMIT JUMPER #6 IN? (Y OR N)-/
4 052512 0S011S

?? 021440 020066
S0

w
[ELHEEHE
CERRaRS
RAASRLE
35 5523

020077 0S44S0
020122 02451A

OSIY40 MWIRES: .ASCIZ «15)¢12>/1S SEC REC JUMPER #5 IN? (Y OR N)-/
051040 041505
042520
Q44440
024040 020131
026451

O44412 832%53 MWIREY: .ASCIZ <15>¢12>/15 OPT CLR ENRBLE JUMPER a4 IN? (Y OR N)-/
41101
046525
032043
16 024040
17 047040

042522 MEXTJ: .ASCII «<15><12>/ARE YOU RUNNING IN MRINT MODE EXTERNAL?/

=2
&
5

28
2
R

FeRBEHAR
s3558

R

;

&
k2
a8

h-.-—.—..—..—.-..—n.—..—..—..—lﬁ-ot—’_.-)-.—.—h.
P
[—y
Pt Gumi
~No
o

O000000000000000000

oooom
L.EL L
et §m0 Prus
~NorO

oy =4

~un

o

pY

0le424

o
I
?9@@
JRsED
RERI?
“gaéa

b
?

?a
&
e e P o
oo~
2
W)
(Va]
Py
o

047125

bzt
g

00000000000
Ps s Pt Pt e s s Pt et o e
tra‘cng;o* oooooe
wREREISEDE
t88Jdd

o

£

~

[y

[

P

gg

;
2
22
A%
cHL
R

016544 00SCIS 040401 042116 .ASCII <«1S)2><1>/AND ..... DO YOU HAVE THE EXTERNAL !OCEM BYPRSS/

IRIASINIRIN[RININININININ N[ RISISIRININRIATRINININRIRISININIATARINRIATATATA
Bt Pt et Dt Bt Bt Bt ot et s e ot Pt ot Pt ot § 0 et Pt Pt Pt Pt et Pt Do P ot b 8 s et et et ot Pt P P Pomss Pt

BBIRA LBV CBBBIRRPLBRLBISIAAZINNITS
o
i
K

6566 020125 040510 042526

042S10 042440
30 051105 O040S16
14 047515 (042504
15 0S4502 040520

3
S 045001 046525 .RSCIZ <«15>¢12>¢1>/JUMPER CONNECTOR ON ?(Y OR N)-/
b

:
:

:
5

3

020122 047503
041505 047524
020122 047117 037440
OS44S0 047440 020122

SRERREER
FEELRY

&&
53
:

.EVEN
;BUFFERS FOR INPUT-OUTPUT

000040 INBUF: .BLKB 40
TEMP:  .BLKB 40

O G o g e
onNiEWwne—0oO
oF

83
Lo ]
8
(o ]
Jo
o

R




3217
3218

018770

DCDUB-C MACYLL 27(1006)
DZCUBC.P11

000040

000200

016767
005267
016767
005267
016767
016767
005267
016767
016767
005267
016767

005267
016767

805;67
16767
005267
016767
000207
000000

005367
001346
000207

016767

1-0CT-76 08:17 PRGE BM

21-MAy-76 00:00

lelble

MDATA: .BLKB

J05

40

i*l*lll!!i**l*!il!li*!!ll!**!!*!i*il*l*li***4***!*!*!***!*i!

;UTILITIES
'lll*iii*lii!*i*i!l!!l***li!i*!*ll*i!*li**********l**!l**f*i!

ruxs UTILITY CALCULATES PRIORITY LEVEL
BULEV: ASL DUPRT  ;SHIFT LEFT
ASL OUPRT
ASL DUPRT ;
ASL DUPRT
ASL OUPRT
000020 MOV DUPRT . LEdS] :MOVE THIS T0 LESS!
000012 SUB ¢],LESS] s CRERTE_LESSI
00000M g%g :37 LESS! :CLEAR TNZVC

OUPRY: LEVELS
LESS1: LEVELY

:NEW DU
000422 DUADDR: MOV

INC
000412 MOV
INC
000402 MOV
000400 MOV
INC
000364 MOV
000362 MOV
INC
000352 MOV
INC
000342 MOV
INC
000332 MOV
INC
000322 MoV
RTS
OUBASE: O

;LEVEL TO ALLOW INTERRUPTS

RDDRESSES
DUBASE , RXCSR ; XXX0

DUBRSE
DUBASE ,HRXCSR  ; XXX!
DUBASE "

DUBRSE,RXDBUF  ; XXX2
DUBASE, PARCSR  ; XXX2
DUBASE

DUBARSE, HRXDBUF  ; XXX3
DUBASE, HPARCSR  ; XXX3

DUBRSE'

DUBASE, TXCSR  ; XXXY
DUBASE"

DUBRSE HTXCSR  ; XXXS

DUBRSE TXDBUF  :XXXb
DUBASE
ggBRSE ,HTXDBUF  ; XXX?7

; THIS UTILITY POKES THE MAINT DATA BASED UPON THE
s INFORMATION CONTARINED IN TEMPI AND IT It
:SHIFTED IN BY THE CONTENTS OF SHIFT

000302 RPOKE: BIC

161£52 BIC
000246 BiS
000240 BIC
000232 8IS

RT>
161612 0DD8: MOV

SMTDATA, JTXCSR

TEMPL  ;FORCE CAR

TEMP2  :PICK UP cnnnv IN BIT 15
TEMP2  :SHIFT INTO BIT 14
$BITIS TEMP2  ;CLR BIT 15
TEMP2 érxcan : POKE MQINT DATA
8CLK, 9TXCS POKE CLK

#CLK | §TXCSR :

cHIFt

RPOKE

PC

: THIS ROUTINE CALCULATES 0DD PREI;I FOR AN 8 BIT CHAR

TEMP1, TEMP2 ;SAVE T

SEG 0Cel




-——

017334
017390

017504

2

AR
Lo

g RERERK

O0O000000 00000000000
ﬂ
un
L
n

bt p
A
80’“

CDUB-C_MACYLL_27(1006)

2l-MRY=-7%

00SCe?
012727

4
005367
301371
006057
103404
052767

000403
042767
00c207

016767
005067
012727
000000

160044

KOS

01 O’T- & 09:17 PRGE 65

161610 CLR TEMP3
000010 . MOV 8., (PC)+
161574 135 Ron TEMP2
161572 ADC TEMP3
177762 DEC 4§
EBNE 13
161560 EQR ;gnpa
000400 161544 g?s 5;173 L TE R :SET 0DD PARITY
000400 161534 2§: BIC 88178, TEMP! :CLR EVEN PARITY
:TEMP1 NOW HAS ODD PARITY CHARACTER
38: RTS PC
- THIS ROUTINE CRLCULRTES EVEN PARITY FOR AN 8 BIT CHARACTER
161526 161526 EVENB: MOV TEMP1, TEMP2 SAVE TEMPI1
161524 CLR TEMP3
000010 . gov #8., (PC)+
161510 18: ROR TEMP2
161506 ADC TEMP3
177762 DEC 4§
BNE 18
161474 Sgg ggnpa
000400 161460 ggs 53178 ,TEMPL :SET EVEN PRRITY
000400 161450 28: BIC 88178, TEMP -CLR 0DD PARITY
-TEMP1 NOW HARS EVEN PARItY CHARACTER
38: RTS PC
000002 TRPREG: ADD %2, (SP) ;ALLOW IT TO "CRUNCH* INTO HLT BACK
eT1 *IN MAIN PART OF THE PROGRAM
:ERROR HLT TRBLE
.ERRTAB: 5"0 sHLT 0 BIT ERROR (GENERAL)
0
Eﬂ% :HLT 1 REGISTER ERROR
DT1
EM2 HLT 2 RECEIVER ERROR
3
Sﬂf :HLT 3 TRANSMITTER ERROR
DTl
. DEFAULT ou ADDRESSES
RXCSR: l&0043
HRXCSR: 160041
RXDBUF: 160042
HRXDBUF : 160043
PARCSR: ~ 160042
HPARCSR: 160043
TXCSR: 160044

SEG 0082




-— — o —

3329
3330
3331

017552
017554
017585

017754

017755
017762
017770

0.0UB-C MACYLL 27(1006)
DZCUBC.PLL

160045
160046
160047

000770
000772
000774
000776

JE44
511l
036440
051S1i
0S110S
Q41520

043505
g20122
036440
044505

it3
3505

00041e
052123
0co

10S
O42Se4
0sS2103

000003
006
001164
006
001156
006
001160
000001

J1-0CT-76 08:17 PAGE

21-MRY-?6 00:00

042440
050040
0S1040

050040
Q42522
051105

050130
020104
040S2S

004
004
002

0Sile2

051001
Q42524

g4150S
088125
0E 1081
042524

Q40522
0s21e4
0S112e
006503
o44507
020040

Q41505
o40440
000114

HTXCSR:
TXDBUF ¢
HTADBUF :
DURIV:
DUR!S:
DUTIV:
DUTIS:
EMO:

EM]:

EM2:

EM3:

DH1:

.EVEN
DTl

.END

LOS

66

160045

160046 16004

3DEFRULT ou vscrons

270 -REC INTR VECTOR
772 'REC INTR STATUS
774 :XMIT INTR VECTCR
776 :XMIT INTR STATUS

:ERROR MESSAGES
'ASCIZ 7 = ERROR PC/

.ASCIZ 7/

.RSCI1Z

.ASCIZ /

:DATA_HEADERS FOR ERROR MESSACES
.RSCIZ /EXPECTED ACTUAL/

éDRTQ TRBLES FOR ERROR MESSAGES

.BYTE 6,4
SAVR3  :REGISTER
.BYTE 4

SAVRO  :EXPECTED DATA
.BYTE &,2

SAVRI  ;ACTUAL DATA

REGISTER ERROR PC/<15¢12><1>/REGISTER /

RECEIVER ERRCR PC/<13>¢12>¢1>/REGISTER /

TRANSMITTER ERROR PC/<15>¢12>¢1>/REGISTER ~

SEQ 003




DZ0UBC.PLI

RRA 0C2046

ACTREG 001216
ADRCNT= 014117
RSERD

B 001204
BASEIV 00l2]12
BBB 001664
BINWRD DIN434
BITW = 002000
BITO = 000001
BIT: = 000002
BITIO = 0C20

BiTi1 = 004000
BITi2 = 010000
BIT13 = 020000
BITIM = 040000
BIT1S = 100000
BIT2 = 00J00M
BIT3 = 000010
BIT4 = 000020
BITS = 000040
BIT6 = 00CI00
BIT7 = 000200
BIT8 = 000400
BITY = 001000
BREAK = 000001
BRU 013450
BRX 013452
CARDET= 010000
cce 013204
CHRCNT 014432
CKSWR = 104413
CLK = 0eCta00

CNTLU = 104414
CNVRT =
CONVRT= 104410

I COUNT

1 CTS
DRATRBP 014706
DRTAHD 014674

I LEVANR Q014114
DEVICE 015623
DRl 017755
DISPRE 000174

| DLIGHT= 177570

| Ok = 100000

i DNAINT= 000040

3
2

D<DUB-C MRCYIL 27(1006) DJ1-0CT-76 09:17

21-MAY-76 00:09

PAGE 68
CROSS REFERENCE TABLE -- USER SYMBOLS

917%

922

cb34*

681
679

MOS

cbly

930#

2e40#

3284

1272

2011

cbl?7

cb2l*

cby4l

3299

1330
c0bb

ebe?

2b23*
2b4c*

3301

1338
elal

2637
2642

1446
2176

2h44»

1504
2edl

1107

2183
245

2hk45

1562
2286

2646+

1620
2341

SEQ 0064

1678
2336




-
&
?

ICOUNT
INBUF

INIFLG
INSTER=
INSTR =

INSTR2
1SYNOD=

JMRBY
KEEPRD
KEEPIV
LASTAD
| LESS]

CDUB-C MACYLIL 27(1006)
0Z0uBC.Pll

= 10000

00Cco40
001000
177570

1997
317836

01703C
017100
017562
017560
017566
017564
006000
017570
017604
017646
017710
001132
001224
014682

001122
016670
00lee2
104404
104403

013676
000000

001203
00ledb
00i2l4
001210
017102

LEVELO= 000000

| LEVEL1=
, LEVEL2=

000040
000100

J1-0CT-T6 09:17
21-MAY-76 00:00

b438
BS3s

3320

2368
b37#
3248

324+
894

1565

2985#%
cbS5#*

1794

cB8c4s

PRGE 69
CROSE REFERENCE THBLE --

3365#

3236
325

3225%
cbl39#

1623

2701 %

1849

2782
2923
835
1094
1449
928

936
32334

3237%
3250

Jccb*
2646

1681

2947 %

1904

NOS

USER S'YMBOLS

3238 3239#%
3251% 3252
32c7* 3228
3333¢
2339 cH4s4
2963 29eb*
2918 3215¢%
931 M1
1152 1159
1507 1558
2633

3240 3241
32544
3232
2509 2564
3031 ¥
955 968
1210 1217
1565 1616

3242+

3243

976

1275
1674

3244

980

1326
1681

SEQ C08S

3245%

999

1333




oo —————

CoodB=C MIVIL

CoDUBC. Pl
LEVELIx 0CZI40
\E.N= 030200
LEVELSz O0Cev)
LEVEL?: 000300
LEVEL/7= 0J02
JIMTS 001l
CINITS 014040
L0BITS 014116
hO\-K mllao
L0GICR D132k
LONFLG D0leeS
LXIN DINII0
LPNT 001129
STERR 0TI
M £1563S
NCRF 016032
M&"A 01677C
MEPASS 016;02
“©x7 = 010000
MEXTY 016473
MINT = 00<000
M ASTD D1S542
MEVEL (l6e.l
MOCK 0lelv
MLLTYT 01543
MPFRIL 016015
NG 216006
MR alkler
MRANGE (15725
MREGRD 0.540¢
MRESET= 000400

YN 0!623%
MTOATR= 040000
MTITLE (15326
FISTPC 01£133
MULTD 00;20c
MvECTO 01536L
MIIREN Q016M4]17
MJIRES 016352
MJIREE D163DM
NEXT 0C1116
NOPFR = 000070

" OD0FRR= 0C1000

Szt D173t

- E— — — ———— o

peahnd [ofia ] KY
LI Y 1-5& N

2i-vAv-78 C2: 82

63Te .
636 3232
£3S5s 3232
B398
338
cle g84Ce
T4 Y
2778+ 2810
3ls 271§
cbtls
7838 1002
c77Ss 2808
2338 B3+
7378 836+
2elb 31138
2748 c764
882 2833
2609 31438
6938
981 316898
6928  108C
1736 1791
24s! 2s06
07 31028
2 31568
1000 2150s
896 30948
3030 31348
2761 31328
1022 31478
Q32 31238
875 30858
6838 1035
1383 1385
1733 1786
2lib 2118
o448 2s01l
356 3ie0s
6808 1040
1736 1791
2451 2506
gye 3077s
1013 Ji4Bs
7628 898
886 30828
977 3iBls
373 3174s
969 31678
7308 1034#
1730% 178S#
cgyuSs 2500+
b-c8 1043
1739 1794
2454 2509
6768
3272

simoeT-Te (8:!7

PRGE TC

BO6

CROSS REFERENCE THBLE -- USER SYMBOLS

1037
1441
1788
2171
2503

1082+%
1840+
2S55#
1101
1849
2Se4

2657+
2ser

2639
2944

3068

b
D
owmn
Ll * A

1093
1443
1841
2173
255k

1156
3259

2702+
2946¢

3133s

| ol o
i
il

1208#
1950#
2704
1el?
1959

3032+

1272 1330 1388
2011 20 2lal

1151 1183 1209

1501 1557

1836 1898 1951

2228 228l

1272 1330 1388

2dl! 2066 ele!l

1266% 1324  ]1382%
2005¢ 2060* 2115#
2930

1275 1333 1391

2014 2068  2laM

1446
2176

1440%
2170#

1449
el79

1504
223!

1267
1617

2338

1504
2231

1498#
2225#

1507
2234

1562
2c8b

1269
1673

2391

1562
228b

1556#
2o80*

1565
2289

1620
2341

1325
167S

23493

1620
234!

1614%
2335#

1623
2344

SEQ OCed

1678
23%

1327
1731
2063
2446

1678
23%

1672%
2390%

1681
2399




- — - ar vm——— -

C0UB-C MACYLL 27 (1008)
O<CUBC.PLL 2l-"AY-7%

[T
cegecog
Ne— L >

P e bme
ﬁamégﬁ

:

o

004000
REPLAY 013102

RTRN 00ill4
S

000004
REREEE
HEEREE
FERERE
FRESRE
PR SRS

ccococcoc

13433324

T 013006
RACSR 017834

2i=0CT-T6 09:17 PRGE 7
C0:03

841
’hble

5
g

c78ls

Buys
979

g

876
2802
1043#
1442%
1794+
2172¢
2509+

2786
2820¢s
833¢
30348
2983

828
2980

COb

CROSE REFERENCE TABLE -- USER SYMBOLS

30S0
S4ls
887
1094+
1449#
1842%
2179+
2557+
c’88
cbSb

987 %

30428
ct37s

4

o—{xmmu—o—o—o-
et ™ L Vo I S [

3054

908
1101#%
1500+
1849%
cce’k
cSbu#
27978

2bs?

2bbS#

78T BRa22e

P it i

30668

933
1152%
1507%
1897%

ce 34+
Jc4ls

c807

3022+

3066#

N3 1014

1159%  12]10%
1658% 1565+

1904%  1952+#
22824 2289
33268
2909 2811
Q24 Q7%
1131 1171
1403 18417
1649 1653
1876 1913
2133 2lv?
X Y4 2371
2591 3259%
cbb7# 2684+
1172 1218%
[566% |578
191§ 19604#

306C

12172
1616%
1959+
2337+

cboux

1421
1693

2151
2408

2685

1230
1624#
1969

26e?
1189
1461
1707
1931
2188
g4ee

2704+

1276#%
1636
2015+

1275
1674¢
2014#
2392#

1288
1682+%
2024

1326#
168l#%
c0bo*
2393+

1334+
1694
2070%

1346
1740%
ed7¢

Sev 00e?

1384+
1739%
2l17#
2454+

1287
1833

2023
2257
248l

3033

1392%
1749
2125#




-

CoDUB-C MRCYLIL 27,1606
o<DUBC.P1! el-"RY-7t 0

RXDBF 01784d
RXDONE= D0020C
RXERR = 100000
SAVPC D017
SARVRC 001156
SAVR] 001160
SAVR2 DO1162
SAvky 00116M
SAVRY DO116b
SAVRS 001170
SAVSP (01172
SAVDS = 104406
SCOPE = 104400
SCOP1 = 104401
= 002020
SEREC 001200
SETFLG= 104M]2
SEXMIT 001177
SHIFT DOCliug
SIX = 002200
SPACNT= 014433
SRD = 002000
STRCK = 001100
€TD = 0220!
CTFLG 00le23
ETYPSYN= 000400
SviS 014126
SR 001100
SWREGC 000176
SWREGC 015272
SWO0 = 000001
S0l = 000002
Sk0e = 00000M
SWo3 = 000010
SkOd4 = 000020
SWOS = DOCOM0
S406 = 0G0100
SW0e = 000400

S78s

5768
€7Ss

2986

CT-T6 09:1T  PAGE

-
/

D06

e
CROSS REFERENCE TRBLE -- USER SYMBOLS

2189
cSeS+
1076
134]
1582
1824

849
B8sS

g2 35+
es™u
1109
1350
1598
1854

g\
cbSl
1118
1366
1631
1863

859
3063

2290%
3236
1134
1399
1640
1879

862
3070

2299
33cces
1167
1408
1656
1909

997

2345+

1176
1424
1689
1918
2154
2404
33248

1430
2160

2289

1169+
1415%
1651 #
19i1#%
2145
2369%
3268#
2069

1010

2354

1192
1457
1698
1934
ciBY
2413

1488
2215

2689

2400+
12¢S

a4l

1546
2270

mo-au—o—-
LE 3 5 F ¥ ]

2696

2409

1234
1482
1794
1973
2209
2454

1604
2325

1227#%
1473
1709#
1966%
cc00#
cucHE

2713

1662
2380

2942

SEG OCes
cH4EM

1283
1824
1769
2019
2248
c4g4

1720
2435

1245*
1517%
1760#%
1984+
cc4l®
c475#

2978




EOB

CoDUB-C MRCYLL 2701006 JI-0CT1-T6 09:17 PAGE 73

CoDUBC.P11 21-MRY-76 00:00 CROSS REFERENCE TRBLE -- USER SYMBOLS SEC 0CeSs
SWeS = 001000 S74s 2713
SWI0 = 002000 §738 2988
SWil = 004000 g728 2696
SWie = 010000 g71s
SKi3 = 020000 5708 2942
SKIN = 040000 G698 2689
SWIS = 100000 G688
SYNCN? 825668 7588 359* 96 3%
SYNEXT= 6698 1732 1739 1787 1794 1842 1849 1897 1904 19Se 1963 2007 2014
2062 2069 2117 2led 2172 21798 eee? 223 2ele 2289 337 2344 2392
2399 2447 24s4 502 2509 2557 sty
SYNINT= 030000 6688
SYNSCH= 000020 ES4s 104 1102 1160 1218 1276 1334 1392 1450 1508 1566 1624 1682
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